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Tuesday, August 21, 2012

--- On commencing at 9:29 a.m.

MR. MILLAR:  Good morning, everyone.  I think we will get started.  This is the tech conference for the EB-2012-0087 proceeding.

My name is Michael Millar.  I am joined by Lawrie Gluck.  I understand that we have two panels today.

We have quite a number of people in the room, so I would suggest we do appearances first, if only so everyone knows who everyone is.  Mr. Smith, would you like to begin?
Appearances:


MR. SMITH:  Crawford Smith, counsel for Union Gas.  With me is my colleague, Alex Smith, also from Union Gas.  On behalf of Union Gas we have Mark Kitchen and Karen Hockin.

MR. MILLAR:  Peter?

MR. THOMPSON:  Peter Thompson for CME.

MR. QUINN:  Dwayne Quinn on behalf of FRPO.

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.

MR. AIKEN:  Randy Aiken, LPMA.

DR. HIGGIN:  Roger Higgin here for Energy Probe.

MS. GIRVAN:  Julie Girvan, Consumers Council of Canada.

MR. ROSS:  Murray Ross, TransCanada.

MR. MILLAR:  Okay, Thank you.  I understand we have two witness panels today, and I propose we get right into it unless there are any preliminary matters.  Mr. Smith or any other parties, do you have anything we need to address before we begin?

MR. SMITH:  No.  Our first panel is in relation to DSM.  We received some questions from Energy Probe.  Tracy Lynch, who is the director of energy conservation management at Union Gas, is here to answer the questions from Energy Probe.

MR. MILLAR:  Mr. Higgin, was it just you who has questions of this panel?
UNION GAS LIMITED - PANEL 1


Tracy Lynch

Questions by Dr. Higgin:

DR. HIGGIN:  I believe so.  I am not aware of anyone else.

So the questions were provided in writing by letter August 19th.  And how would you like to proceed?  I can either read them all in, or we can do them one by one and see if answers come, or how would you like to proceed?  I don't mind.

MR. SMITH:  Why don't you ask the questions one by one and we will give you the answers as we go?

DR. HIGGIN:  Okay, thank you.  So this is Energy Probe Research Foundation technical conference questions.  I am now referring to Energy Probe TCQ #1, and the reference cited there is B1.1, and it relates to 2011 audited DSM costs.

So part a) is to "Please confirm that the Audited 2011 DSM results have been filed with the Board."

MS. LYNCH:  Confirmed.  The 2011 audited DSM results were filed with the Ontario Energy Board on June 29th, 2012 in compliance with section 2.1.12 of the Board's reporting and record-keeping requirements.

DR. HIGGIN:  Thank you.  Part b) says:
"Please confirm that the 2011 Audited Results presented to the DSM Consultative on August 15, 2012 include changes to the TRC, LRAM and SSM."

MS. LYNCH:  The audited DSM results presented at the DSM consultative meeting on August 15th did show a change to the total resource costs, or TRC, and lost revenue adjustment mechanism, or LRAM, amounts from the pre-audit numbers.

The overall shared savings mechanism, or SSM, did not change.  However, the allocation between rate classes did change as a result of the audited results.

DR. HIGGIN:  Thank you.  Part c) is:
"Please confirm that in the Final Order in EB-2012-0087, Union will adjust the deferral account balance clearances to reflect the final audited amounts."

MS. LYNCH:  Consistent with the approach taken in previous deferral account disposition proceedings, the true-up between the 2011 unaudited results and the 2011 audited results will be disposed of in Union's 2012 deferral filing, which will take place in the spring of 2013.

The Board reaffirmed this practice in Union's 2010 deferral account disposition in EB-2011-0038.

DR. HIGGIN:  Thank you for the answer.

Now we're going to turn to Energy Probe TCQ #2.  This deals with allocation of DSM costs to the rate classes.

So the references here are IRRs B6.2, which is one of ours, Energy Probe, and B8.1 and B8.2, which are IRRs on behalf of IGUA.

So dealing with part a):
"Please provide a complete Response to B6.2 c) including a complete summary of the 'rules' for allocating each category of 2011 DSM cost as recorded in the DSM Deferral/Variance accounts to the rate classes."

MS. LYNCH:  The rules for allocating each category of the 2011 DSM costs are based on the guidelines provided by the Board in EB-2006-0021.  So the rules for 2011 with respect to the LRAM, the first year impact is calculated as 50 percent of the annual volumetric impact multiplied by the distribution rate for each of the rate classes that the volumetric variance occurred in.

The balance in the LRAM deferral account is then allocated to the rate class in proportion to the margin reduction attributed to that rate class.

DR. HIGGIN:  What about SSM?

MS. LYNCH:  For the DSM incentive or the balance in the SSMVA account, the incentive amounts are allocated to the rate classes in proportion to the net TRC benefits attributable to the respective rate classes.

DR. HIGGIN:  Thank you.  I would ask you to provide a table that compares the rules for 2012, which are based on the Board's new DSM guidelines, to those rules that you have just referred to from the 0021.

The reason this issue has been raised is that other parties have asked for -- to see what this allocation would look like if the 2012 rules were applied.  That's the genesis of this.

So could you provide that table?

MR. SMITH:  Yes, we can do that.

DR. HIGGIN:  Thank you very much.  Then I would ask you to comment -- undertaking, please.

MR. MILLAR:  Yes, JT1.1.
UNDERTAKING NO. JT1.1:  TO PROVIDE A TABLE THAT COMPARES THE 'RULES' FOR 2012 BASED ON THE BOARDS DSM GUIDELINES TO THE 2011 'RULES' LISTED IN PART ENERGY PROBE TCQ #2A).

DR. HIGGIN:  In part c), I ask you to comment on the application of the Board's guidelines for 2011 and 2012, and I think you probably answered that.  If you have anything to add, please do so now.

MS. LYNCH:  I would note that Union has followed all of the Board's guidelines for 2011 and is completing the tracking and reporting changes required to adhere to the new DSM guidelines for 2012.

DR. HIGGIN:  Right.  Now, just so we understand background, the follow-up question is:  When were the new Board's DSM guidelines issued, and did the Board comment as to when they should become applicable?  Two questions.

MS. LYNCH:  The guidelines were issued in June of last year and applicable for 2012.

DR. HIGGIN:  Thank you.

So that then speaks to part d) of this question, which is to confirm the new DSM plan which was approved by the Board will use the Board's guidelines, meaning the new guidelines for allocation of DSM costs to the rate classes.

So can you confirm that?

MS. LYNCH:  Union's DSM plan for 2012 to 2014 will follow the Board's guidelines.  The 2012 allocations will be addressed within the 2012 deferral account proceeding.

DR. HIGGIN:  Thank you very much.  So now I am moving on to EP TCQ #3, and the references here are B6.6b, which is one of our IRs, B1.12, which is a Board Staff interrogatory response, and it deals with the allocation of the CDMVA account balance and also with the low-income incentive for 2011.

The first question is:
"Does Union agree that the activities underlying the CDMVA balance are not Board approved DSM Programs/Projects?"

MS. LYNCH:  The activities included in the CDMVA balances are not Board-approved DSM programs.  The CDMVA was established to track and report net revenues associated with conservation demand management or CDM activities which are to be shared 50/50 between shareholders and ratepayers, as outlined in EB-2011-0148.

The ability of the utility to engage in CDM activities is approved on the fact that we have a deferral account for those revenues.

DR. HIGGIN:  Thank you.

In part b), if, as we seem to see in the interrogatory responses, most of the activities that underlie the CDMVA are predominantly low-income CDM, can you discuss why the balance in that account should not be allocated as per the allocation of low-income costs under the Board's Union's approved methodology?

And I reference here EB-2010-0055.

MS. LYNCH:  The activities in this deferral account were predominantly in the commercial, industrial and institutional new construction markets.  Of the 215,000 in this deferral account, only 700 was a result of low-income conservation pilot program that we completed.

DR. HIGGIN:  Okay.  Thank you.

Then I would ask if you could -- the background to part c) is that the amount is allocated to rates M1 and Rate 1, as I understand it; is that correct?

MS. LYNCH:  The CDMVA account balance is allocated based on where DSM amounts were allocated.  So it's across the rate classes.

DR. HIGGIN:  Okay.  Thank you.

Now, we move to part d), and that's the low-income incentive, which is for 2011 $544,000.  And we are asking you to confirm that that's allocated based on the Board-approved methodology.

MS. LYNCH:  There is not a Board-approved methodology for allocating the low-income DSM incentive.

Union has allocated the low-income incentive to the M1 and Rate 1 -- Rate 01 rate classes based on the 2011 net volume savings from the program.

This is in alignment with the DSMVA guidelines in EB-2010-0055, that states that Union's incremental 2011 DSM budget will be recovered through Union's Rate 01 and M1 small-volume general service rate classes.

Costs will be allocated between the M1 and Rate 01 rate classes based on the 2011 net volume savings allocation, and will be covered via the DSMVA on a volumetric basis.

DR. HIGGIN:  Now, just to confirm, the EB-2010-0055 allocated the DSMVA amounts, the incremental DSMVA amounts on that, and that's the basis that you have decided to allocate the low-income incentive; correct?

MS. LYNCH:  We followed the same approach with the incentive.

DR. HIGGIN:  Can you explain why that was particularly the correct thing to do?

MS. LYNCH:  We felt that for the low-income incentive, it would be attributed to the rate classes where the spending occurred for that program.

DR. HIGGIN:  Okay.  So it's based on spend?

MS. LYNCH:  It is based on -– well, it's based on volume of the savings within the two rate classes.

DR. HIGGIN:  Now, the incentive is an equivalent --shareholder incentive, somewhat similar, for example, to the LRAM or the SSM; correct?

MS. LYNCH:  It's an -- sorry, could you repeat the question?

DR. HIGGIN:  So what is the nature of that incentive in terms of -- would you classify it how?  Is it similar -- it's a shareholder incentive?

MR. LYNCH:  Right.

DR. HIGGIN:  And it is an amount similar to the one, for example, for the market transformation; it is an amount.

And is it or is it not similar to SSM?

MS. LYNCH:  It is similar in that it is a shareholder incentive.

DR. HIGGIN:  So the question, then, is the SSM, as we already discussed, is based on TRC, so can you explain why this should not have been allocated based on TRC?

MS. LYNCH:  It's based on TRC because that's how we were measured, and that is how we would allocate our incentive results as a result of where the TRC savings were achieved.

So similar with the low-income incentive, we're then allocating that result where the volume savings would be achieved.

DR. HIGGIN:  Okay.  I got the -- understand the approach, the methodology.  Thank you.

So I would assume our last question refers to a different matter, and therefore would be put to the next panel; is that correct?

So I would like to thank Ms. Lynch for her answers.  And that is all of our questions, thank you.

MS. LYNCH:  Thank you.

MR. MILLAR:  Does anyone else have questions for this panel?

Okay.  Mr. Smith, you have an ex-franchise panel, as well?

MR. SMITH:  Yes.  So I would ask Mr. Isherwood, Ms. Cameron, Mr. Birmingham and Ms. Elliott to come forward.
UNION GAS LIMITED – PANEL 2


Mark Isherwood

Carol Cameron

Richard Birmingham


Pat Elliott

MR. MILLAR:  I assume we can get right into questions, Mr. Smith?

MR. SMITH:  Yes.  I have a brief...

MR. BEAUCHAMP:  Could I just say something, sorry?  I missed my chance at the mic earlier.

John Beauchamp, on behalf of APPrO.  Sorry.  Thanks.

MR. MILLAR:  I'm sorry, Mr. Smith.  Did you say you have a question of this panel?

MR. SMITH:  Yes, I do.

I had earlier -- or we had earlier circulated a list of document -- a list of evidentiary references from the EB-2011-0210 proceeding, relating to ex-franchise revenues, and in particular, upstream optimization.

And I would ask that that be incorporated by reference as evidence in this proceeding, and perhaps the easiest thing to do is to mark as an exhibit the list that we had circulated, Mr. Millar?

MR. MILLAR:  These are all evidentiary references from the 2013 cost of service proceeding?

MR. SMITH:  They are.

MR. MILLAR:  Okay.  I think we will do that.  We will mark that as an exhibit.  The Board does have, of course, the power to bring evidence from one proceeding into another.  I don't believe it has done so in this case.

MR. SMITH:  Not as yet.

MR. MILLAR:  So it may do that.  There may be other ways this can formally become part of the record.  I am proposing we mark this as an exhibit now.

I understand Mr. Thompson has questions on some of these areas anyway.

So let's mark it as an exhibit.  If something further has to be done, we will do what we have to do, but I would propose it we mark it as an exhibit now.

So that will be KT1.1.
EXHIBIT NO. KT1.1:  LIST OF EVIDENTIARY REFERENCES FROM EB-2011-0210 PROCEEDING RELATING TO EX-FRANCHISE REVENUES UPSTREAM OPTIMIZATION.

MR. MILLAR:  Mr. Smith, you are just proposing we mark the list of evidentiary references?

MR. SMITH:  Yes, Mr. Millar.

MR. SHEPHERD:  Can I ask a question?

MR. MILLAR:  Yes, please.

MR. SHEPHERD:  Sorry, is the intention here that by filing this -- you used the term "incorporate by reference" so are you intending with this, to file in this proceeding all of these underlying documents?

MR. SMITH:  Yes.  I mean, it struck me as a significant waste of paper --


MR. SHEPHERD:  No, no, I am not complaining that you are not bringing it.  I am just asking what is being filed here.  Is it this one piece of paper, or is it all of the underlying documents?

MR. SMITH:  No, it is all of the underlying documents.

MR. SHEPHERD:  That is what I wanted to clarify, because I don't think that is what --


MR. MILLAR:  Very well.  Is that clear now?

MR. SHEPHERD:  Yes.

MR. SMITH:  It is certainly all of the underlying -- all of the evidence, which includes prefiled evidentiary references, interrogatories, technical conference undertakings, undertakings, exhibits from the proceeding and transcript volumes 6 and 7, which the -- the purpose of which I will address in a minute.

We also circulated, Mr. Millar, a brief compendium, which does include a number of materials already included in a compendium Mr. Thompson circulated.  And indeed, some of the materials may be referred to in what we marked just a minute ago as the second exhibit on this technical conference.  The time constraints were such that we weren't able to weed it all out, but we included and circulated a brief compendium of additional materials which we rely on in this proceeding and which we would ask be marked as an exhibit.

MR. MILLAR:  KT1.2.
EXHIBIT NO. KT1.2:  COMPENDIUM OF ADDITIONAL MATERIALS OF UNION GAS LIMITED.
Presentation by Mr. Smith:


MR. SMITH:  Just by way of opening comments, we have the Board Procedural Order No. 3, so parties are aware, in Union's view, this proceeding concerns optimization or transportation revenues in 2011; does not concern earlier or subsequent years.

So to the extent evidence from the 2013 proceeding has been incorporated by Union, it comes with that caveat.  Union's view is the 2011 revenues are relevant to this proceeding, whereas other years, be they subsequent or preceding, are not relevant.

As I indicated a minute ago, we incorporated the transcripts from the 2013 rate proceeding that relate to the issues, as we understand them, reflected in the Board's procedural order, and certainly it is Union's position that this technical conference is not an opportunity to re-conduct examination that has already taken place.

So we are obviously -- want to be as efficient as possible.  The Board has heard a good deal of evidence in relation to these matters already and we make that observation.

I did have, Mr. Millar, just a couple of brief questions I am going to ask the panel.  They are to Mr. Isherwood.

Mr. Isherwood, at KT1.2, there is a reference to a TCPL news release and a service on page 2 referred to as FT make-up.  Do you have that, sir?

MR. ISHERWOOD:  I do.

MR. SMITH:  Can you just describe for me what is or what was FT make-up?

MR. ISHERWOOD:  FT make-up was a service that TCPL introduced for the year 2002 only.  When you read the description there, it reads very similar to FT RAM.  And why it is similar is that FT make-up essentially allowed for any unused demand charges in any given month to be used as a credit towards any IT volume shipped on the same month.

So that is exactly the same at FT RAM.  This is an earlier version of it, but it is really the first time you saw this type of service was 2002.

MR. SMITH:  And can tell me whether or not this was a service that Union made use of?

MR. ISHERWOOD:  Yes.  We would have used it the same as we would use FT RAM today.  So we would have taken any credits that we created, and we would have used those towards IT service exchange, sort of paying for an IT service that we would have used to underlie or underpin an exchange service.

MR. SMITH:  And did Union, in fact, make use of FT make-up?

MR. ISHERWOOD:  We would have, yes.

MR. SMITH:  And how were they treated, from a regulatory perspective, these transactions that you undertook?

MR. ISHERWOOD:  They would have been treated exactly the same as FT RAM is treated today.  They would have been treated through the transportation exchange account as revenue.

MR. SMITH:  And we have in Mr. Thompson's compendium - I will just read it, but I believe this was also marked - actually, this was marked in Exhibit K6.4 from the 2013 case, so I will just read the reference.

But Union indicated in RP -- or EB-2003-0087 and RP-2003-0063 at page 6 of 16:
"Over the last few years the level of S&T transactional revenue has been impacted by warmer weather and favourable market pricing conditions.  In addition, certain TCPL services, e.g., FT make-up, AOS, that were approved and in place for 2002 only."

Is the FT make-up that is referred to in your evidence at page 6 of EB-2003-0063 the FT make-up you have just described?

MR. ISHERWOOD:  Yes, it is.

MR. SMITH:  And, Ms. Elliott or perhaps Mr. Isherwood, just picking up on my question about regulatory treatment, were these amounts recorded in a deferral account at the time?

MS. ELLIOTT:  Yes.  At the time those revenues were earned, we had a deferral account for short-term transportation and exchange revenues.

MR. SMITH:  Which deferral account was that?

MS. ELLIOTT:  179-69.

MR. SMITH:  And, Mr. Isherwood, can you provide or, if it is possible, can you describe how an exchange using FT RAM or an exchange that takes advantage of FT make-up are similar or vary?

MR. ISHERWOOD:  There was an undertaking taken actually, JT1.6, where we described an exchange, a base exchange, where we actually provided an exchange from Dawn to Niagara, and we actually paid -- had to pay cash for the underlying IT that supported that transaction.

There was a second example in the same undertaking where we actually paid for the underlying IT transportation on TransCanada using the credits.

MR. SMITH:  Which credits?

MR. ISHERWOOD:  The credits from FT RAM.  That was an example where we were trying to compare base exchange with and without FT RAM.

And we would have done or could have done the same type of transaction in 2002, and, instead of using the credits from FT RAM, we would have used the credits from either FT make-up or AOS.

MR. SMITH:  Just picking up on your last answer, can you describe what the AOS service was?

MR. ISHERWOOD:  AOS is basically TCPL was providing free transportation, essentially, IT transportation, equivalent to 4 percent of all your demand charges you were paying TransCanada in that month.

So if you were paying a dollar of demand charge, you would get 4 percent or 4 cents of equivalent credit on IT.  So we would use that IT again to fund transactional activity.

MR. SMITH:  And was this a service that Union took advantage of?

MR. ISHERWOOD:  It was.

MR. SMITH:  And how was it treated, from a regulatory perspective?

MR. ISHERWOOD:  It would have been treated the same as the FT make-up credits, the same transportation exchange deferral account.

MR. SMITH:  How does it compare, mechanically or conceptually, to FT RAM?

MR. ISHERWOOD:  Conceptually it is very similar, in that you are given credits to use in the month.  So you have a firm transportation contract, and, based on that firm contract, you are given credits that can be used on IT transportation in the same month on any path.

So very similar in concept to what FT RAM is today.

MR. SMITH:  And, Ms. Elliott, we talked earlier about FT make-up transactions.  Can you just describe the regulatory and deferral account treatment, if any, in relation to AOS?

MS. ELLIOTT:  Again, to the extent that they were tools used to facilitate exchange services for revenue, that revenue would have been captured in the short-term transportation and exchange revenue deferral account.

MR. SMITH:  Those are the questions I intended to ask, Mr. Millar.

MR. MILLAR:  Thank you, Mr. Smith.  Mr. Thompson, did you want to go first?

MR. THOMPSON:  Yes, please.
Questions by Mr. Thompson:

MR. THOMPSON:  I did circulate electronically a compendium of materials on behalf of CME last night, and I assume the company has been able to download that stuff.  Am I right, Mr. Isherwood?

MR. ISHERWOOD:  Yes, that's correct.

MR. MILLAR:  Should we mark that, Mr. Thompson?

MR. SMITH:  Mr. Millar, I think we should mark it.  I do not agree -- and this was an observation I made during the 2013 case, but I do not agree that all of the material incorporated in Mr. Thompson's compendium is appropriate, at least to put to Union witnesses.

There are, for example, partial excerpts from the decisions -- Consumers Gas decisions.  They're not obviously facts that the Union panel, at least, is aware of.

So it is -- I am prepared to have it marked as an exhibit, but it is with the caveat that I don't agree all of the materials necessarily are appropriate, although we will have to see what Mr. Thompson says as we go through his questions.

MR. MILLAR:  Thank you.  We will mark it for identification purposes.  To the extent there are objections or refusals, we will deal with those as they arise.  It will be Exhibit KT1.3, and that is the CME compendium for the technical conference.
EXHIBIT NO. KT1.3:  CME TECHNICAL CONFERENCE COMPENDIUM.

MR. THOMPSON:  Thank you.

Now, just to put my examination in context, I will pose my questions to you, Mr. Isherwood, and if others need to jump in, please don't hesitate to do so.

If you go to tab 36 of the compendium, you will see the Procedural order No. 3 that the Board issued that gave rise to this technical conference.

And the preliminary issue that the Board has framed for consideration in this proceeding is expressed at page 3 of the procedural order.

Do you see that, Mr. Isherwood?

MR. ISHERWOOD:  I am on page 3, yes.

MR. THOMPSON:  And the issue that the Board has framed for determination in this proceeding is:
"Has Union treated the upstream transportation optimization revenues appropriately in 2011 in the context of Union's existing IRM framework?"

I hope I read that correctly.

Then on the next page, the Board says:
"The focus of the technical conference will be on the issues laid out by CME and FRPO in their letter."

Do you see that, sir?

MR. ISHERWOOD:  I am still trying to find it.  Oh, yes, I found it, yes.

MR. THOMPSON:  Then just so you are aware of the issues that were laid out in our letter, you will find those at tab 34.

And we had three issues expressed on page 1, and then we summarized this, again, in two subparagraphs on page 4 of the letter.

I take it you are familiar with the contents of the letter?

MR. ISHERWOOD:  I am.

MR. THOMPSON:  Thank you.

Now, in terms of the issue, as I mentioned, it makes reference to Union's existing IRM framework.

I take it we can agree that that IRM framework is found in the 0606 IRM agreement, as approved by the Board?

MR. ISHERWOOD:  Yes.

MR. SMITH:  Well, yes and no, Mr. Thompson.

Well, first of all, I don't think that that is a fact question, but the second is the 0606 case was also subject, as you are aware, to subsequent -- or the framework was subject to subsequent settlement in the 2009-0101 case.

MR. THOMPSON:  All right.  Let me turn to tab 20, if you wouldn't mind.  And if you go to the -- which is an excerpt from the settlement agreement in 0606.

Have you had a chance to look at those excerpts, Mr. Isherwood?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  At page 15 there's a description of Y-factor.

Do you see that heading, "Y-factor"?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  And the agreement reads:
"The parties agree that identified Y-factors will not be adjusted by the price cap, but will be passed through to rates."

Do you see that?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  And can I take it that -- well, is that feature of the agreement still live?

MS. ELLIOTT:  Yes.  The term "pass through to rates" really incorporates the gas supply deferral account.  So the treatment, the Y-factor treatment applies to the upstream gas costs, which are the commodity costs captured in the deferral accounts and the upstream transportation costs captured in the deferral accounts.

And those deferral accounts are still active.

MR. THOMPSON:  Yes.  And they're also, I believe, the subject matter of QRAM proceedings?

MS. ELLIOTT:  That's correct.

MR. THOMPSON:  All right.  So the mechanics for passing through these items to rates are a combination of deferral accounts and the QRAM process?

MS. ELLIOTT:  That's correct.

MR. THOMPSON:  Thank you.  Now, what does the phrase "passed through to rates" mean?

MS. ELLIOTT:  It would be the mechanics of the deferral account, so to the extent that the cost of variances were captured in deferral accounts and the QRAM process.

MR. THOMPSON:  Well, does it mean that if an actual cost of an item in this list is greater than forecast, that the difference will be passed through to rates?

MS. ELLIOTT:  If the cost was captured in the deferral accounts, yes, but not necessarily all costs are captured in the deferral accounts.

MR. THOMPSON:  So you seem to be saying the driver is the precise wording of the deferral accounts, not the concept of Y-factors?

Is that what I should draw from these answers?

MS. ELLIOTT:  It is the deferral accounts that the Y-factor was intended to capture, yes.

MR. THOMPSON:  Okay.  Well, give me an example of a transportation cost that would be passed through to rates.

MS. ELLIOTT:  So the transportation -- the deferral account for transportation in the north is a tolls variance account.

So to the extent that the TCPL toll changes, that's captured in the variance account.

To the extent that the mix changes on that portfolio, that is not captured in the deferral account.

MR. THOMPSON:  What about in the south?

MS. ELLIOTT:  In the south, it's a blended average cost.  So the deferral account will capture the variance in the delivered cost into Ontario.

MR. THOMPSON:  Okay.  So if the costs that you actually -- the company actually pays to TCPL are lower than what was forecast, will those reductions be passed through to rates?

MS. ELLIOTT:  If it was a toll variance, it will be captured in the deferral account.  But if it was a difference between delivery to the western delivery area versus the eastern delivery area, those variances aren't captured in the deferral account.

MR. THOMPSON:  And you're saying that is because of the language of the deferral accounts?  Is that what you're suggesting?

MS. ELLIOTT:  The deferral account in the north is tolls and fuel only.

MR. THOMPSON:  What about the south?

MS. ELLIOTT:  The south deferral account is a delivered cost, so it is a blend of commodity and transport, delivered to Ontario.

MR. THOMPSON:  Right.  So if that went down, then that would flow through to rates, passed through to rates?

MS. ELLIOTT:  If the delivered cost of gas invoiced into the south was less than the reference price, that gets captured in the deferral account.

MR. THOMPSON:  Okay.  Well, does the company accept that under the IRM agreement it cannot profit from items of expense –- sorry, items that are to be passed through in rates?

MR. SMITH:  Well, what do you mean, Mr. Thompson?

MR. THOMPSON:  Well, just what I said.

MR. SMITH:  I am not sure I understand the question.

MR. THOMPSON:  Does the company accept that under the terms of the IRM agreement it cannot profit from items that are to be passed through to rates?

MR. SMITH:  Well, I'm struggling with what you mean by "items that are supposed to be passed through to rates".  I mean, Ms. Elliott gave you specific answers to specific questions.

I don't think it is appropriate to generalize, to the extent you are trying to generalize, beyond what she has told you.

MR. THOMPSON:  Well, the items that will be passed through to rates are listed on page 15 of tab 20.  Those are the items I am talking about.

MR. SMITH:  Well, I think the company agrees that, to the extent items are passed through, then they are treated as Ms. Elliott said, as they're treated through the deferral account, so what those deferral accounts capture or don't capture.

MR. THOMPSON:  All right.  Well, let me move on.

What does the phrase "upstream transportation costs" mean?

MS. ELLIOTT:  In the context of this list, I interpret that to mean the north tolls and fuel deferral accounts.

MR. THOMPSON:  Well, does it mean the gas transportation that the company acquires to bring commodity from a location upstream of its system to its system?

MS. ELLIOTT:  Again, to the extent that it is the subject of a deferral account treatment, yes.

MR. THOMPSON:  Well, give me an example of what isn't subject to a deferral account in terms of upstream transportation costs.

MS. ELLIOTT:  So we use TransCanada's STS service as not subject to deferral.  We use diversion --


MR. THOMPSON:  Sorry?

MS. ELLIOTT:  STS service, storage transportation service on the TransCanada system, is not subject to deferral.

Diversions that we purchase on the TransCanada system are not subject to deferral.

MR. THOMPSON:  So if the toll for STS changes goes down, you keep the profit?

MS. ELLIOTT:  If the toll changes, it is subject to deferral.  If we use more or less than the plan intended or assumed, that variance is not subject to deferral.

MR. THOMPSON:  And why is that?  It is just you haven't included it in the language of the deferral accounts you have presented?

MS. ELLIOTT:  The mechanism for cost recovery of the north transportation is only a tolls-based deferral.

MR. THOMPSON:  Anything else, other than STS?

MS. ELLIOTT:  Again, to the extent that we use more or less of any service to a delivery area, those aren't subject to deferral.

So if we move more gas into the WDA, that is not subject to deferral.  Only the toll variance is subject to deferral.

MR. THOMPSON:  What does the word "tolls" mean?  Does tolls include tariffs?

MS. ELLIOTT:  If TransCanada's rate changes, that's deferred.  The amount that we purchase, the variance in the amount we purchase, is not subject to deferral.

MR. THOMPSON:  Well, does tolls include tariffs, TransCanada's tariffs?

MS. ELLIOTT:  I guess I interpret "tolls" and "tariffs" to be the same thing.

If the rate we're charged for service varies, that is subject to deferral.

MR. THOMPSON:  What about commodity, gas -- upstream gas costs?  What does that mean?

MS. ELLIOTT:  The commodity cost is subject to deferral.  Again, it is a price deferral.  So if the average cost of gas increases or decreases, that variance is captured in the commodity deferrals.

MR. THOMPSON:  Well, suppose you forecast -- acquire an item of commodity at Dawn and that item of commodity you acquire at Dawn costs less.  Does the reduction flow through to rates?

[Mr. Isherwood and Ms. Elliott confer]

MS. ELLIOTT:  I think the issue we're getting into is one, if we're optimizing the portfolio, then the variance in the cost is not covered in the gas cost deferrals.  It is part of the exchange revenue.

MR. THOMPSON:  Are you suggesting you can optimize gas commodity?  In other words, you can make profit on gas commodity?

MS. ELLIOTT:  The optimization tends to be related to the transport, the delivery, not the commodity.

MR. THOMPSON:  Well, so are you suggesting you can make profit on optimizing forecast commodity costs in the gas supply plan?

MS. ELLIOTT:  Not the commodity costs, but the transportation of that commodity to Ontario is the subject of the transportation optimization activities.

MR. THOMPSON:  All right.  Let me move on and turn to another matter here.  This is with respect to the amounts that were discussed in the issues that we framed in our letter.  I just want to see if we have a consensus there on the amounts.

What you have labelled as "exchange revenues" are, in our view, in reality, upstream transportation cost reductions.  I know we disagree on that issue, but I want to try and see if we do disagree on the amounts what have been withheld from -- that's my word -- withheld from --


MR. SMITH:  No kidding.

MR. THOMPSON:  -- from ratepayers.  And that will take us -- to I think it is tab 44.  You might just want to keep your finger on tab 34 at page 4, because these are the numbers that I am just trying to confirm with you.

At tab 44, we have the Exhibit K7.3.  You will recall that exhibit, Ms. Elliott, Mr. Isherwood, whoever wants to --


MR. ISHERWOOD:  Yes.

MR. THOMPSON:  -- take the firing line here?

And in our letter at tab 34, at page 4, and we also refer back to it on -- I think it is the first page.  Maybe not the first page.  Sorry, it is at the bottom of page 2.  But the amount that -- as of December 31, 2010 that we believe has been withheld from ratepayers, on the assumption these are gas transportation cost reductions, is the sum of the amounts at line 3 in columns 1 to 4, which we make to be $16.2 million.

Do we have any disagreement on that amount?

MR. SMITH:  I'm sorry, Mr. Thompson.  Which, through to the end of 2010 is -- what number are you referring to?

MR. THOMPSON:  I am referring to the sum of the four numbers at line 3, 0.4, 0.5, 7.0 and 8.3, which total, to the end of 2010, $16.2 million.

MR. SMITH:  I think I said at the outset that we don't agree any numbers prior to 2011 are relevant, so we don't concede the relevance of any of these figures.  We don't disagree that those four numbers, when you add them up, equals $16.2 million.

MR. THOMPSON:  So subject to relevance, it is $16.2 million; is that fair?

MR. SMITH:  That is the amount recorded on line 3.

MR. THOMPSON:  Thank you.

And then the amount, the net RAM revenue for 2011, is, at line 1, 22 million; have I got that straight?

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  And if those are classified as reduction in gas costs, that is the amount that should go back to ratepayers?

MR. ISHERWOOD:  I think this table describes how FT RAM credits are used and how ratepayers benefit in other ways, including earnings sharing, which is 14.5 on line 2.

On line 4, there is funding of LBA balance, as well, of 0.6.

MR. THOMPSON:  I'm sorry.  I think the 0.6 has already gone back to ratepayers at line 4.

That is what J3.2 tells us, I believe, which you can find at tab 46.

MR. SMITH:  Mr. Thompson, I don't know whether this will help or not, but -- Ms. Elliott may be able to make this observation, but I am not sure it is as simple as taking out the $7.5 million, in that if were you to reclassify exchange revenue as you are positing, that would have an impact on total earnings, which would have an impact potentially on earnings sharing.

MR. THOMPSON:  Right.  I was coming to that.

I was suggesting, first of all, the 22 million would go back to ratepayers, but our suggestion is earnings sharing would be reduced by $14.5 million.  That is what we say in our letter, and I am just trying to see if we have a disagreement there.

MS. ELLIOTT:  That's correct, as far as it goes.

There are probably some costs, as well, incurred to earn the $22 million that need to be considered.  But if you are just looking at the revenue, the revenue difference is the $22 million worth of revenue, exchange revenue related to the RAM activities.

MR. THOMPSON:  What do you mean their costs?  It is net RAM revenue already.

MS. ELLIOTT:  There is actually some O&M costs incurred that are part of the cost of delivering those revenues.

MR. THOMPSON:  But they're not netted out in net RAM revenues?

MS. ELLIOTT:  Not in the net revenue, no.  The net revenue refers to netting off upstream transportation costs incurred to facilitate the service.

MR. THOMPSON:  So what is the O&M we're talking about?

I mean, is it material?  And how -- where does it come from?

MS. ELLIOTT:  I am actually looking at two exhibits that were filed in the rate case.  Exhibit 6.1 and 6.2 were calculations of the deferral account if the deferral account had been maintained, one excluding RAM and one including RAM.

And the difference there is 19.8, not the 22 million.

MR. THOMPSON:  Those are responses to Mr. Aiken, I believe, are they?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  So you're saying there is three million of O&M, roughly?  Have I got that straight?

MS. ELLIOTT:  That's correct, yes.

MR. THOMPSON:  And where does that come from?

MS. ELLIOTT:  I think it is 2.2.

It shows up, again, on Exhibit J6.1.  The 2011 cost to facilitate the transportation and exchange revenue is 7.8 million.  That's excluding the RAM.

And when we go to Exhibit 6.2 and include the RAM, it is $10 million worth of costs.

MR. THOMPSON:  Okay.  I will have to reflect on that.  Okay.

And the other numbers in our letter relate to 2012, and we addressed that at page 3.  This is, again, at tab 34, where we referenced J7.11 and concluded that FT RAM for 2012 is now expected to be $37.8 million.

Do we have that correct?

MR. SMITH:  Well, Mr. Thompson, I don't think that this is an appropriate line of inquiry, in that the Board's procedural order is quite clear; there are no amounts for 2012 that are proposed to be included in 2011 earnings sharing.

So I don't think it is an appropriate line of inquiry.

MR. THOMPSON:  Okay.  Well, subject to relevance, have I got the number right?

MR. SMITH:  Well, I am not prepared to engage in it at all.  The Board's procedural order speaks to 2011.

MR. THOMPSON:  All right.  Fine.

Okay.  I would now like to turn to some history.

Mr. Isherwood, at some point you told us you had reviewed the history back to 1993; did I understand that correctly?

MR. ISHERWOOD:  Yes.  At a high level.

MR. THOMPSON:  Well, we're both at the same level, then.

Now, if you could go to tab 3 of the material, this is Union's prefiled evidence in the EBRO-499, which is a '97-'98 filing, I believe.

Can you confirm that, Mr. Isherwood?

MR. ISHERWOOD:  It was actually filed in June of '98, yes.

MR. THOMPSON:  Now, at the second page of this, under tab 3, down at the bottom, it talks about transactional services forecast, right?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  And it talks about Union offering a range of transactional services, and that includes exchanges?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  So can we agree that an exchange is a transactional service?

MR. ISHERWOOD:  It's always been defined as S&T transactional service.

MR. THOMPSON:  All right.  And the transactional services that are being discussed in this evidence are transactional services provided by Union to third parties, are they?

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  Can Union provide a transactional service to itself?  I think it would be difficult.

MR. ISHERWOOD:  It would be difficult.

MR. THOMPSON:  Now, we then go to part of your history again, which is at -- I think it is tab 8.

Well, just before I do that, at tab 3 you describe the methodology to determine what resources are available to support transactional services.  You describe that at page 7 where it says:
"First, Union forecast the resources required to meet its in-franchise and ex-franchise firm requirements.  Any remaining resources are the basis for the sale of transactional services."

Have I read that correctly?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  Is that the way it works?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  All right.

MR. ISHERWOOD:  I would say in terms of the requirement, it could be on the day, it could be on the month.  It is not necessarily on -- on the year.

MR. THOMPSON:  Okay.  But you can have transactional services supported by gas supply plan assets, and you can have transactional services supported by your -- the transportation system that you own and operate; fair?

MR. ISHERWOOD:  And the costs would be supported by services we buy on TransCanada, for example.  We could buy other services to support it.

MR. THOMPSON:  But my point is you can have transactional services supported by your own transportation system?

MR. ISHERWOOD:  We would use our own system at times, for sure.

MR. THOMPSON:  Yes.  And then at page 8 of this historical document, there is a description of an exchange agreement where it says:
"Under an exchange agreement, gas is typically received by Union at a point on the Union system in exchange for gas delivered to the other party at a point outside the Union system."

Is that an accurate description of an exchange?

MR. ISHERWOOD:  That was the definition back in 1996.  I think at the 2013 rebasing case, we actually used a definition from 2003, which is, I would say, the current definition; one you would find on our website, as well.  That was found in RP-2003-0063.

It is a little bit higher level.  We can actually be upstream or downstream.  This is more of a downstream exchange, but today we do it upstream or downstream of Union.

So it is a little broader, the new one.

MR. THOMPSON:  All right.  I think you are referring to the document at tab 9 of the brief.

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  Then this describes:
"An exchange it is a contractual agreement where Party 'A' agrees to give physical gas to Party 'B' at one location and Party 'B' agrees to give physical gas to Party 'A' at another location."

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  And if Union is receiving the gas - in other words, if Union is Party B - is Union providing the exchange?

MR. ISHERWOOD:  It depends on the transaction.  So Union could be receiving the gas and still selling the exchange.  We could still be earning a revenue even though we're receiving the gas.  So it really depends on the actual -- on the actual transaction.

MR. THOMPSON:  Okay.  Well, that is not a typical exchange, is it?

MR. ISHERWOOD:  Typical with FT RAM.

MR. THOMPSON:  Pardon?

MR. ISHERWOOD:  It is typical with FT RAM.

MR. THOMPSON:  I'm talking typical historically.

MR. ISHERWOOD:  Before FT RAM, it would not be typical, but with FT RAM it is typical.

MR. THOMPSON:  I'm dealing with history.  We will get to FT RAM in a minute.

So are we on common ground when I suggest that exchange revenues are the outcome of a transactional service provided by Union to a third party?

MS. ELLIOTT:  Yes.  That would be the definition of an exchange revenue.

MR. THOMPSON:  All right.  Now, I would like to turn, then, to the nature of the gas supply assets that support transactional service, and I think this -- a transactional service, and this takes us to tab 8, as well as tab 10.

This is, again, an historical presentation by Union in the 0063 case, and we have the prefiled evidence at tab 8.  Have I got that straight, Mr. Isherwood?

MR. ISHERWOOD:  Not quite yet.  Okay.

MR. THOMPSON:  This, again, now talks about the forecast -- this is a section entitled "Transactional Services Forecast".  Do you see that?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  Referencing exchanges and the other services, and then it talks about forecast methodology.

Down at the bottom, it starts to talk about the gas supply plan?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  Do you see that?

MR. ISHERWOOD:  I do.

MR. THOMPSON:  And over on the second page, it says:
"With a balanced gas supply portfolio, which meets the forecast in-franchise and ex-franchise firm demands, there will be few, if any, firm assets available to support transactional services on a future planned basis."

Is that the way it works?

MR. ISHERWOOD:  That's the way it worked in May 2003; that's correct.

MR. THOMPSON:  Well, when did that change?

MR. ISHERWOOD:  I think FT RAM, as we testified to in the 2013 case, provided a whole different framework to operate within.  But back in 2003, when FT RAM did not exist, then there were few assets available.

MR. THOMPSON:  All right.  So when did you start changing your -- from a balanced gas supply portfolio?

MR. ISHERWOOD:  We always had the gas supply portfolio balanced.  We have never changed that at all.  It was changed as to how we optimize that portfolio.

And as I mentioned with Mr. Crawford's earlier cross-examination, there was some of that happening in 2002.  That was really introduction of the FT make-up and AOS, which had characteristics similar to FT RAM.  We would have done a bit of it that year, but certainly not until FT RAM got up and running in 2008, 2009 before we got into it in a big way.

MR. THOMPSON:  Okay.  Well, moving down in testimony here, the statement is made at line 14:
"The actual assets available for S&T transactional services will change on an ongoing basis, dependent upon actual weather and market factors..."

Do you see that?

MR. ISHERWOOD:  I do.

MR. THOMPSON:  And that indicates to me that the gas supply capacity available to support transactional services depends on factors beyond the company's control, i.e., weather and market?

MR. ISHERWOOD:  That's true.  And I would add to that services of TransCanada, as well, like FT RAM.  That certainly wasn't expected in 2003.

MR. THOMPSON:  So you're characterizing a service from TransCanada as a factor beyond somebody's control?

MR. ISHERWOOD:  I would say that service attribute was beyond our control in terms of it coming into place.

MR. THOMPSON:  Well, let's put it this way.  Can we agree that these FT RAM opportunities have not been prompted by changes in weather or market factors?

MR. ISHERWOOD:  I think they were partly derived because of market factors.  TCPL was trying to encourage people to maintain FT capacity in their pipeline.  So the fact they were losing large volumes to do contracting, it drove them to think of things like FT make-up, AOS and FT RAM.  So it was driven by market factors.

MR. THOMPSON:  Well, I guess we can agree they're not caused by weather --


MR. ISHERWOOD:  Not by weather.

MR. THOMPSON:  -- unpredictable weather?  All right.  We will have to argue the market factors point.

Now I would like to move, if I could, to another part of the history, which is the closure of -- matters pertaining to the closure of four of these transactional services deferral accounts.  I think that starts at tab 13.

This is -- we are now in the 0520 case.  Just to put this in context, if you go to tab 14, there are the four deferral accounts that were the subject matter of Union's proposal to close these transactional services accounts.

Can you confirm that for me, Ms. Elliott?

MS. ELLIOTT:  Yes, that's true.

MR. THOMPSON:  All right.  And the proposal, the initial proposal, was made in December 2005 in the C1, tab 3 proceeding.  Just, again, to put this in context, there is in the material -- bear with me until I find it.

Yes, I'm sorry.  It is at tab 19, which shows the balances in these four deferral accounts in this time frame, 2004, 2005, 2006; is that correct?

MS. ELLIOTT:  Yes, that's correct.

MR. THOMPSON:  And would you take, subject to check, that the total credit balance in 2004 was 11 -- this is adding the four lines across on the schedule -- $11,078,000?

MS. ELLIOTT:  I will take that, subject to check.

MR. THOMPSON:  Then in 2005, I make it $7.289 million.  Would you take that, subject to check?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  And in 2006, $7.164 million?

MS. ELLIOTT:  Yes.

MR. THOMPSON:  All right.  Am I correct that your proposal to close transactional services deferral accounts was unrelated to any Y-factors?  Or pass-through items?

MS. ELLIOTT:  This is the 2007 cost of service rate case that we proposed to eliminate --


MR. THOMPSON:  Yeah, I used the phrase "Y-factor."  I should have used "pass-through items."  Upstream --


MR. SMITH:  Sorry, just going back, is what you are saying that you were -- that Union was proposing to close the enumerated deferral accounts and not close other deferral accounts?

MR. THOMPSON:  Yes, not close any gas supply deferral accounts.

Does that help understand the question a little better?

MR. SMITH:  Well, why don't you just ask which accounts was Union proposing to close?

MR. THOMPSON:  Well, we know those accounts.  Anyway, that's fine.

Now, at the time this proposal -- just to give it its history, it was initiated in the material at tab 13, as I mentioned.  And then the 0520 settlement agreement at tab 16 basically carried this into the NGEIR proceeding; is that a fair way to put it?

MR. ISHERWOOD:  Yes.  The Board had issued a letter requesting that that -- our request to terminate or eliminate the deferral accounts be moved into the NGEIR proceeding.

MR. THOMPSON:  Right, and we see that at page 12, the last page that -- the excerpted tab 16.

Then in the NGEIR proceeding, which is the next tab, it moved forward into the IRM proceeding; is that a fair summary?

MR. ISHERWOOD:  Yes, that's correct.

MR. THOMPSON:  Then in the IRM proceeding, we have at tab 18 your prefiled evidence there.

And if you go to page 11 of that material, there is a reiteration of the proposal that had been made previously; is that fair?

MR. ISHERWOOD:  Correct.

MR. THOMPSON:  And the agreement that stemmed from that proceeding is found at tab 20.  And there, the parties agreed that these four transactional services accounts would be closed; is that correct?

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  And the amount embedded in rates was an initial amount of $2 million and some-odd -- I don't have the number in front of me -- and then it was increased by $4.3 million, as I understand the settlement agreement, to be something between six and seven million dollars?

MR. ISHERWOOD:  I think the final was 6.9.

MR. THOMPSON:  All right.

MR. ISHERWOOD:  And at this point -- I know that is margin, not revenue.

MR. THOMPSON:  Right, but it's to be compared to the balances that were in those deferral accounts in prior years at tab 19.

The amount actually embedded was slightly lower than the amounts realized in those deferral accounts in 2006, 2005 and 2004?

MS. ELLIOTT:  Sorry, you are comparing the approved 2008 number of 6.9; that didn't have any bearing on the calculation of the deferral accounts for 2004, 2005 and 2006.

They would have been -- the margin there would have been deferred against the Board-approved margin at that point in time.

MR. THOMPSON:  All right.  Well, at best, what ratepayers were getting out of those accounts by way of the deferral account mechanism was the numbers that we derive from J7.10, right?

MS. ELLIOTT:  Yes, although it is only the one account on J7.10.  So it is only the 179-69 that we're referring to here, is the transportation and exchange revenue services deferral account.

MR. THOMPSON:  Oh, so I see what you're saying.  The 6.9 is transportation and exchange only?  Is that what you're suggesting?

MS. ELLIOTT:  Yes, yes.

MR. THOMPSON:  So to measure this against the history, we would need to know what was embedded in rates for transportation and exchanges in each of the years '04, '05 and '06.

Do you have that handy?

MS. ELLIOTT:  I know it is filed in the evidence.  I am not sure I can call it up quickly.

MR. THOMPSON:  Thank you.

MR. SMITH:  Well, I guess the question is:  Is it incorporated in -- is it in the materials that we have --


MS. ELLIOTT:  I would need to check.  I'm not sure what the reference number is.  But we did file it in the rate case.  There was an undertaking response that provided the Board-approved forecast levels prior to 2008.

MR. THOMPSON:  Ballpark?  The number two-something sticks in my mind, but I may be mistaken.

MS. ELLIOTT:  Yes.  It certainly wasn't the six.  It was -- it was lower than that.

MR. THOMPSON:  Thank you.

Now, in the material pertaining to the proposal to close these accounts - this is your prefiled evidence - I couldn't find any reference to FT RAM.

Was FT RAM known at the time by the company, or is this something that emerged later?

MR. ISHERWOOD:  In terms of what year are we talking about?

MR. THOMPSON:  When you made the proposal in the 0606 case to close the deferral accounts.

MR. ISHERWOOD:  FT RAM began in November of '04.  It was only in place two months in '04 and then the full year of '05.

MR. THOMPSON:  Right, but in your -- well, are we agreed there is no reference to it in the proposal to close the deferral accounts?

MR. ISHERWOOD:  I think at that point in time, at the beginning of FT RAM, it was a one-year pilot.  It went from November 2004 to November 2005.  There was another one-year pilot, and then another one-year pilot.

So at that point in time, and even today, it is not a permanent service.  So it would have been expected not to be in existence beyond the existing one year at the time.

MR. THOMPSON:  All right.  So there was no reference to it when you made the proposal; is that what you're telling me?

MR. SMITH:  Is your question that there is no reference to FT RAM in Union's prefiled evidence in that proceeding?

MR. THOMPSON:  That is my question.

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  Thank you.

Now, there is an exhibit.  Yes, it is at tab 39.  This is a response the company provided in the TCPL hearing, which I think the responses there preceded the responses that were provided in the 0210 case.

But in that response that's on page 13 of 41 at the bottom of the page - that's the page number - in the middle there, it says:
"It has taken Union and other market participants several few years to gain experience with the RAM program and to fully understand how to realize its full benefit."

What does that mean, Mr. Isherwood?  Did you write this response?

MR. ISHERWOOD:  I was involved in the response, yes.

I think when you look at our FT RAM revenue that we earned year over year, it certainly was very small in the beginning.  In 2004, 2005, 2006 it was very small, and it has really gotten large in, I would say, 2010, 2011.

So as we got to work with that service, we became more experienced in how to optimize our system even better year over year.  But in the early years, 2006/2007, it was a very small limited activity relative to what it was in, say, 2011 and 2012.

MR. THOMPSON:  All right.  So it wasn't mentioned in the prefiled evidence in the 0606 case.

In terms of -- let's move to the FT RAM mechanism, then.  The documents on that start at tab 37, which is a description of the mechanism provided by TransCanada Pipelines.  Am I correct?

MR. ISHERWOOD:  FT RAM actually changed over its life since 2004.  So this is a description as of June 2010.

MR. THOMPSON:  All right.

MR. ISHERWOOD:  June 2010 would be the current program, as well, but it did evolve from 2004 to about 2009 -- 2007, actually.

MR. THOMPSON:  All right.  Well, the next document is tab 38, which is something that was attached in response to Mr. Brett, which relates to the resolution of the tolls task force.  And that describes the history of the FT RAM?

MR. ISHERWOOD:  Yes, it does.

MR. THOMPSON:  Okay.  Now, at this point, the RAM mechanism became a permanent feature of TransCanada's tariff.  That is what it says in the resolution; is that correct?

MR. ISHERWOOD:  It became permanent in November of 2009.

MR. THOMPSON:  Right.  But it's a permanent feature of TransCanada's tariff?  That is what it says.

MR. ISHERWOOD:  TCPL would have made changes to the tariff to incorporate it.

MR. THOMPSON:  And TCPL's tariff is regulated by the National Energy Board?

MR. ISHERWOOD:  It is.

MR. THOMPSON:  And so the upshot of this, am I correct, is that when you sign an FT contract with TransCanada, one of the attributes that you obtain under that contract is the FT RAM mechanism as a tariff item?

MR. ISHERWOOD:  Only for long-haul transportation; that's correct.

MR. THOMPSON:  Okay.  Has that changed?  Is it strictly long haul?  I thought it was --


MR. ISHERWOOD:  It is long haul with linked short haul, and it is also STS, as well.  But if it is just a straight short haul FT contract, standalone, it would not be.

MR. THOMPSON:  But it is an attribute of the regulated NEB tariff for FT and it's a feature of the FT contract.  You access this attribute through the FT contract?

MR. ISHERWOOD:  It is a right you are given because you have the FT contract.  But I would say there are other features of FT, as well, that we would transact around, for example, diversion rights.

So FT has a lot of flexibility in it, and we would use that flexibility to optimize.

MR. THOMPSON:  All right.  Is what you have here -- well, let's just turn to what you do with this.

One of the steps that you -- or one of the ways that, as you say, "optimize" FT RAM is that you simply use the IT service that is available if you decide not to use your FT and, instead, use the IT?

MR. ISHERWOOD:  Yes.  An example of that would be we would leave empty our Empress -- our Empress to EDA capacity, FT capacity empty, and that would create FT RAM credits.

MR. THOMPSON:  Right.

MR. ISHERWOOD:  And we would purchase an IT service on the day that would go from Empress to, say, the WDA or NDA.  And the remaining credits we would use to offset the cost of an exchange.  So we would be providing an exchange to a third party and partially or wholly fund that through the credits we got from the FT RAM.

MR. THOMPSON:  And I think you describe this in J7.6, which is at tab 42 and it is on the second page.  You say a similar transaction could have been completed had Union retained the capacity, leave the Empress eastern zone empty, earn credits and so on.

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  Use the IT.  That is not an exchange?

MR. ISHERWOOD:  Leaving the pipe empty is not an exchange. Buying the -- or using the IT service on TransCanada from Empress to the NDA is not an exchange.

But the exchange is then the part where we actually move a third party's gas from somewhere on Union's system to somewhere off our system, or, likewise, off our system onto our system.

MR. THOMPSON:  But in terms of the IT, the credits that you get access to in and the IT that you use, that is merely exercising your contractual rights with TransCanada?

MR. ISHERWOOD:  But the only reason we're doing that is because of FT RAM.  If we didn't have FT RAM, there would be no economic incentive to do that transaction.  And, as we testified in the 2013 rebasing, it is all based on the fundamental premise that the gas supply plan is there to serve the needs of all of our customers in all of the different delivery areas.

And to the extent we can move gas to different delivery areas and optimize, then we can take advantage of the RAM credits we create.

MR. THOMPSON:  Well, you are getting cheaper transportation under the FT contract, are you not?

MR. ISHERWOOD:  No.  We are optimizing the long haul contract.

MR. THOMPSON:  Well, optimizing means you are reducing the costs.

MR. ISHERWOOD:  Optimizing means we're finding different ways of serving the end-use customers.  They still get the gas that they require.  We are still buying the gas that we have planned to buy.

We are just optimizing how we deliver them to them, and that creates credits that we can use for exchanges and it gets flowed through our exchange account.

MR. THOMPSON:  All right.  Well, we will argue what it all means, that's for sure.

MR. MILLAR:  Mr. Thompson, we're about 11 o'clock and probably looking to take a break soon.  I am not sure how long you have.  Would this be a good point or...

MR. THOMPSON:  I would be about 15 minutes longer.

MR. MILLAR:  Why don't we take our break, then?  Is 15 minutes long enough for a break?

MR. SMITH:  Oh, yes.

MR. MILLAR:  11:15, then.

--- Recess taken at 11:00 a.m.

--- On resuming at 11:22 a.m.

MR. MILLAR:  Are we ready to get started again?  Everybody?

Would you like to continue, Mr. Thompson?

MR. THOMPSON:  Yes, thanks.

Let me move from the one form of transaction that we were discussing to the other form, which is capacity assignments.  And you discussed that in this Exhibit J7.6, as well as a number of other documents that have been filed in the 0210 proceeding.

Now, in terms of a situation where the market rendered FT service temporarily surplus, does the company have an obligation to minimize the UDC that arises?

MR. SMITH:  Sorry, can you just repeat that question?  I missed the first part of it.

MR. THOMPSON:  In a situation where the market renders FT service as surplus, temporarily surplus, does the company have an obligation to mitigate the UDC?

MR. SMITH:  No, we don't agree with that.

MR. THOMPSON:  Well, I am just asking the question.  Do you have an obligation?

MR. SMITH:  And I am -- I mean, if the general proposition, Mr. Thompson, you are trying to suggest is that the company has a legal obligation to optimize for the benefit of ratepayers, as you have put it in this case, we obviously don't agree with that.

And so I don't agree with the way in which you have asked the question.

MR. THOMPSON:  All right.  You have provided evidence and it is in the material that if you forecast UDC and effect an assignment of TCPL capacity with respect to that UDC, that flows through to ratepayers; am I right?

MR. ISHERWOOD:  I think the differentiation here is:  Does the system need the molecule to actually gas supply?  So our gas supply plan will anticipate us having to buy a volume of gas based on the plan to each of the different delivery areas, and to the extent we don't need the gas supply - there had been a warm winter, for example, and we no longer need a gas supply - we will assign away capacity and try and obtain some value for that capacity.  And that is flowed through back to the ratepayers.

MR. THOMPSON:  That flows through back to the ratepayers?

So when weather prompts the action, the consequences of mitigating UDC flows back to ratepayers?

MR. ISHERWOOD:  So if you have to mitigate UDC relative to gas supply plan, then that would flow back to the ratepayers.

MR. THOMPSON:  All right.  So let's, then -- and in  capacity assignment mechanism that you use to monetize FT RAM credits, you have told us in the 0210 case that it is a bundled transaction?

MR. ISHERWOOD:  I guess I would be -- I think that word was used, but be careful with the word "bundled."  It is really two independent transactions.

We still assign away the TCPL pipe, which is a standard TCPL assignment, which we -- on their paper, essentially, that we do.

That is the first step, if you want, of the transaction.

MR. THOMPSON:  Right?

MR. ISHERWOOD:  The second step of the transaction is we actually sell an exchange where they would deliver that gas to a different delivery area.

MR. THOMPSON:  Well, are you selling or acquiring an exchange?

This is where I get a little confused.

MR. ISHERWOOD:  The actual transaction, the actual paperwork would -- it would be viewed as a selling of an exchange.  We actually earn revenue from that -- that second piece of the transaction.

MR. THOMPSON:  Well, but the way I understood it when you described it previously is that the amount that is received for the assignment, less the amount you need for the exchange, produces revenues, produces a positive amount for Union; is that a fair way of putting it?

MR. ISHERWOOD:  So looking at the two individual steps, we would pay the marketer for the value of the long-haul FT contract.  So if it was to the EDA, it would be the 2.24 per gJ; we would pay them the 2.24.

And then for the exchange, where they would -- we would give them gas at Empress and they would give us gas in the NDA, they would pay us whatever, whatever the negotiated rate is, 20 cents, 30 cents.

And that exchange revenue then flows into our transportation exchange account.

MR. THOMPSON:  But am I right the amount you get from the marketer is greater than the 2.24?  It would have to be to produce revenue?

MR. ISHERWOOD:  We pay the marketer, on the first step, 2.24.  We pay them that, because that is what our gas supply plan had us paying to TransCanada.

We assign the pipe to the marketer, and therefore we owe the marketer the 2.24 to keep them whole on that pipe.

Likewise, our customers are kept whole, as well.  That is the same number that they were expected to pay for that transportation.

The second phase of that transaction is we do an exchange where we give them gas at Empress, they give us gas back at the NDA or WDA, and we get paid for that.  So it's actually we're selling an exchange.

MR. THOMPSON:  So what is the amount, though?  Is it more than the 2.24?

MR. ISHERWOOD:  No.  It is going to be a negotiated amount.  It will be the value -- it's going to be the value of the exchange.  It would be 20 cents, 30 cents, 40 cents, depending on what path we're using and what the value of it is in the market.

MR. THOMPSON:  I don't understand why you pay someone to whom you assign the FT, 2.24.  I mean the whole purpose of assigning it is to have the assignee take responsibility for the 2.24.

MR. ISHERWOOD:  But the pipe is being kept empty.  So in that transaction, what we're -- what the gas plan was calling for was for us to pay TransCanada 2.24.

And instead of paying TransCanada, we're paying the marketer 2.24, and we're still buying the gas at Empress.

MR. THOMPSON:  Well, the -- what's the 2.24 for?

MR. ISHERWOOD:  I'm just using that as a reference point; I may be off by a penny or so.  But 2.24 is TCPL's toll to go from Empress to the EDA.

MR. THOMPSON:  Yes.  And you are paying to that to a marketer?

MR. ISHERWOOD:  The same -- we pay the marketer the same 2.24.

MR. THOMPSON:  Why, when you have assigned them the capacity?

MR. ISHERWOOD:  That's why I said at the beginning you have to look at this as being really a two-phase transaction.

So how it is papered is step one, which is we pay them the 2.24.  That keeps our gas costs whole and keeps our customers whole.

Then for the transactional revenue, they pay us the 30 cents or 40 cents or whatever the number negotiated is.

MR. THOMPSON:  Strange transaction.

Well, when you assign unused FT capacity in a scenario where the monies flowing -- the benefits from the assignment are flowing back to ratepayers, the assignee gets the FT RAM credits, right?

MR. ISHERWOOD:  That's right.

MR. THOMPSON:  And that adds value to the assignment?

MR. ISHERWOOD:  It does.

MR. THOMPSON:  So are you paying the marketer anything in that scenario?

MR. ISHERWOOD:  Yes.  Typically, we would.

So we typically look at UDC but assume that we're exposed to the full 2.24, but when we go to release that pipe into the market, the market would have a value on the pipe, and it won't typically be 2.24.  It might be $1.50 or $1.80 or $2.

The difference between what the marketer is willing to pay and the 2.24, we would pay that amount to the marketer, because they're ultimately responsible to TCPL for the 2.24.

MR. THOMPSON:  So what are the savings, then, in the assignment that flows through to the benefit of ratepayers?  How do you achieve them?

MR. ISHERWOOD:  Because of FT RAM?  Is that your question?

MR. THOMPSON:  No.  Just a normal assignment of unused capacity, my understanding is the market pays a spread?

MR. ISHERWOOD:  Market value, that's right.

MR. THOMPSON:  Pays the market value.  And that market value would go into the deferral account and be credited to ratepayers.  Now you are describing a scenario that sounds very strange to me, but maybe I am missing something.

MR. ISHERWOOD:  I think ultimately the person we assign the pipe to has to pay 2.24.  So --


MR. THOMPSON:  That's why they're buying the pipe.

MR. ISHERWOOD:  Right.  But if the market value is only $1.80, we would pay the difference, and that is true with or without RAM.  It is whatever the difference is between market value and the full toll, the utility would have to pay that to the marketer.

MR. THOMPSON:  All right.  So the difference, then, between what you get from the marketer and the 2.24 is the credit to ratepayers in a traditional assignment of surplus capacity.  I mean, TransCanada is going to get 2.24.  The way I understood it was the marketer -- you, in effect, give that capacity to the marketer for a discount.

Do you keep paying the 2.24 to TransCanada and receive $1.70 from the marketer, the $1.70 goes into the deferral account and flows back to ratepayers?

MR. ISHERWOOD:  I think where we're missing each other is, when we assign the pipe to the marketer, the marketer assumes the obligation to pay the TransCanada bill.  So they have to pay the 2.24.

MR. THOMPSON:  Right.

MR. ISHERWOOD:  But if the market value is a buck 84, then there is 40 cents still to be paid by somebody.  So it would be paid by Union.

MR. THOMPSON:  Right.  But the ratepayers are relieved of $1.84?

MR. ISHERWOOD:  That's correct.

MR. THOMPSON:  So that's the credit.  And so why isn't that the same situation in this bundled transaction that you have described?

MR. ISHERWOOD:  In the bundled transaction, there is no need for the ratepayer to have UDC.  The plan is in balance.  We are optimizing the plan.

So the plan is working perfectly.  There is a market opportunity, largely created by FT RAM, that allows us to go in and optimize the plan.  So we're creating the UDC, if you want.  We're creating the opportunity to gather the FT RAM credits.

MR. THOMPSON:  Yes.  So that is not a transactional service.

MR. ISHERWOOD:  Absolutely.

MR. THOMPSON:  You actually create UDC?

MR. ISHERWOOD:  But that is part of the transaction.  The transaction is to create the UDC, to create the credits to sell the exchange.

MR. THOMPSON:  I thought we had agreed at the outset that if -- that the gas supply plan assets that are needed to support transactional services are those that are freed up by weather or market forces.  Now you're saying we can create it ourselves.

MR. ISHERWOOD:  Well, but I also said back in that line of cross-examination, back in 2003 before FT RAM -- FT RAM has opened up a larger scope of optimization than we had prior to -- than we had prior to 2007.

MR. THOMPSON:  All right.  Well, I will move on.

You mentioned some of these prior cases where you talked about -- I forget what it was.  There is the TransCanada release that you referenced.

Has the company ever, at any time, obtained explicit approval from the Board to convert FT RAM credits to profits?

MR. SMITH:  I don't think that this is a factual question, Mr. Thompson.  I don't think we are under an obligation to tell you that.

MR. THOMPSON:  All right.

MR. SMITH:  But, as you know, it was -- optimization by Union Gas, including optimization using FT RAM, was explicitly adverted to by Union in the 2009-0101 case.

MR. THOMPSON:  And so what do we -- are you suggesting, then, that that was -- that led to an explicit approval by the Board of converting FT RAM credits to profits?

MR. SMITH:  Mr. Thompson, I am not accepting the proposition at all that a prior Board approval specifically referencing FT RAM, as your question posits, is necessary.

You know that our position is that these are -- upstream optimization has been a feature of the regulatory arrangement that Union has had for many, many years, that these revenues would have flowed through the 179-69 account, that that account was closed by agreement of the parties, and that as a result they are treated as regulated revenues shared through earnings sharing.  That is our position.

MR. THOMPSON:  Well, I appreciate that is your position.  I was asking a simple question.

Are you relying on this document at tab 28 of our material -  and it's in your material as well - to suggest that this was some request for explicit approval to convert FT demand -- FT RAM credits to profits?

MR. SMITH:  It is -- I'm suggesting it is exactly what it is, a response to an interrogatory in the context of Union's 2008 earnings sharing mechanism that identified what additional optimization activities Union engaged in in 2008 and that obviously -- that parties did what they did with that and the Board did what it did with it.

And, yes, we intend to rely on that in this proceeding.

MR. THOMPSON:  Okay.  Just a couple of other areas, and then I will be finished.

On a similar vein, you make reference to -- again, in an interrogatory response back in the 0220 case, you make reference to DOS MN.  Do you recall that, Mr. Isherwood?  That is tab 23 of our brief.

MR. ISHERWOOD:  I have it.

MR. THOMPSON:  Okay.  And that interrogatory response was in connection with an application to set distribution rates for January 1, 2009.

I have attached the prefiled evidence at tab 22.  Would you take that subject to check?

MR. ISHERWOOD:  I would.

MR. THOMPSON:  Would you agree with me that there is no reference in the prefiled evidence to either DOS MN or FT RAM?

MR. ISHERWOOD:  I would have to go back and -- there isn't, I agree, but I would have to go back and check the timing of when DOS MN was first announced by TransCanada relative to the filing date and all of that.

And DOS MN, again, was a temporary service.  Ultimately it was used for two years.

MR. THOMPSON:  Right.  I think it was announced in November 2008.  I can find that at tab 21.

MR. ISHERWOOD:  I think it was, yes, early November.  It was implemented on November 15th, or something, of 2008.

Our prefiled evidence is dated September of 2008, so we wouldn't necessarily have known much about it at that point.

MR. THOMPSON:  All right.  Am I right DOS MN is not a transactional service provided by Union?

MR. ISHERWOOD:  No.  DOS MN was a service that TCPL requested their shippers provide them, really, a service offered by TCPL for their shippers to provide gas delivered to Dawn.

MR. THOMPSON:  Right.  In terms of what you actually did with DOS MN availability, I think we see that at -- it is in Exhibit J7.1, which is at tab 49.

This was an undertaking provided to Mr. Aiken.  Are you familiar with this?  Is anyone on the panel familiar with this?

MR. ISHERWOOD:  Yes.

MR. THOMPSON:  Okay.  What this is telling me - and tell me if I am wrong - is that what you displaced or substituted in this DOS MN business was commodity that you were forecasting to purchase at Dawn; is that right?

MR. ISHERWOOD:  I think the DOS MN service actually was, as I mentioned, available for two different years on TransCanada, the '08-'09 winter, which is the subject of this exhibit, J7.1.

MR. THOMPSON:  Right?

MR. ISHERWOOD:  It was also offered, again, in a slightly different form for the winter of '09-'10.

And the difference primarily between '09-'10 and '08-'09 was in the second year, rather than being Empress-to-Dawn at a fixed amount for the whole winter, it was variable amount month to month, and it was actually an Emerson-to-Dawn service that -- they wanted us to fill their pipe between Emerson and Dawn.

How we treated -- or how we extracted transaction revenue was much different between those two years.

This is the subject of the first year, this one, but I just want to point out that we did things differently the second year.

MR. THOMPSON:  But am I right that what you have done here is -- what was in your forecast was the purchase of some commodity at Dawn, and then what you did was you decided:  Well, I'll lend my gas at Dawn using DOS MN and displace the commodity cost that I had forecast?

That is what this is telling me.

MR. ISHERWOOD:  So the gas supply plan would have had us buying gas at Dawn that winter.

MR. THOMPSON:  Right.  That would be a commodity spot price at Dawn?  Is that the way it would work?

MR. ISHERWOOD:  It would have been a monthly price at Dawn, probably.  Maybe seasonal, but at least monthly.

Instead of that, we bought the gas at Empress and flowed it using the DOS MN service, which was a very inexpensive transportation path.

MR. THOMPSON:  So you got lower commodity landed cost at Dawn, and that displaced what you had forecast by way of commodity.  So this is now optimizing commodity?

MR. ISHERWOOD:  Through this optimization activity, we're able to land gas at Dawn cheaper than we otherwise would have.

MR. THOMPSON:  But the element of the plan that is being, if you will, substituted for is commodity.  This is not a transportation switch, this is commodity displacement; is that right?

MR. ISHERWOOD:  In this example, I would say we're still buying the same amount of gas, so not unlike what we do with FT RAM.  We're finding a different way of getting it delivered for the customer, that is cheaper.

MR. THOMPSON:  Is the element of the forecast that is being, if you will, substituted for or displaced a commodity forecast, as opposed to a transportation forecast?

MR. ISHERWOOD:  I think we're finding a different way of getting gas to Dawn, that is cheaper.

MR. THOMPSON:  All right.  Now, finally with respect to earnings sharing and whether this activity does or does not lead to earnings sharing, the -- in 2011, the dead band, am I right the dead band was 200 basis points before -- on earnings sharing?

MS. ELLIOTT:  That's correct.

MR. THOMPSON:  And what does 200 basis points translate into in terms of revenue requirement, roughly?  Two hundred basis points on equity?

MS. ELLIOTT:  About 36 million.

MR. THOMPSON:  Thanks very much.  Those are my -- oh, sorry.  Just with respect to this package that you have delivered, perhaps you could just enlighten me as to why you are relying on what is at tab 1.  What is the smoking gun in there?

MR. SMITH:  I would make the observation, Mr. Thompson, that I think it is well known to everybody that the various deferral accounts that have been discussed, including the S&T related deferral accounts, have been around for some time.

And one place to look for that is the 2005 deferral accounts, but certainly -- deferral account proceeding.  So that is why that is included there, but certainly they have been around for much longer than that.

MR. THOMPSON:  Now, you mentioned the material at tab 2.  That's the press release of TransCanada.

I assume you have told us why you believe that's relevant, have you, Mr. Isherwood?

MR. ISHERWOOD:  We discussed that in the opening.

MR. THOMPSON:  Yes.  Then tab 3, there is a decision.  What is that being relied on for?

MR. SMITH:  Well, there was a generic QRAM proceeding, Mr. Thompson, where the various gas supply, gas transportation deferral accounts were discussed by the Board, and pages 1 to 24 seem like a reasonable summary of those.

MR. THOMPSON:  Tab 4 is the 2008 earnings sharing.

And what is it that you are relying on this excerpt for, please?

MR. SMITH:  Well, I believe these materials, we've already talked about these materials, and the change to the framework that was the product of that proceeding.

So we have included the prefiled evidence at tab 4 -- sorry, at tab -- let me just make sure I have the right tabs here.  The TC is not...

So we have included an excerpt from the prefiled evidence at tab 5.

We have included an interrogatory -- at tab 4, sorry, an interrogatory at tab 5, the parties' settlement agreement, which I believe is included in your materials, at tab 6.

We have included submissions in respect of the settlement agreement by you at pages 53 to 67, the relevance of which would be self-evident on reading the submissions.  And the decision itself.

MR. THOMPSON:  Okay.  And in terms of the submissions we made, what is the self-evident aspect of that in the context of FT RAM?

MR. SMITH:  Well, Mr. Thompson, as we discussed earlier, the optimization of the upstream transportation portfolio was a feature that was adverted to in that case.  There were substantial earnings in that proceeding.  That proceeding, I believe those overearnings were over the 300 band dead band, which otherwise would have called for a reopening of the submission of the agreement.

The parties, fully aware of the -- fully aware of the sources of the earnings, agreed to revise the settlement agreement and the way in which it is set out in the settlement agreement and in the decision.

And parties supported that, including your client, who argued that it was a reasonable deal and the risk of Union over-earning going forward were minimal, and whatever the risks were, that your client and intervenors were prepared to live with those risks, that you viewed them as minimal and manageable, and including because the agreement provided for sharing 90/10 above the 300 basis point dead band.

MR. THOMPSON:  I see.  And was FT RAM --


MR. SMITH:  And anything else I include in argument, I don't think I am obliged to give you our argument at this stage, but there is some -- there's a preview of part of it.

MR. THOMPSON:  You did it anyway.

Is there anything about FT RAM credits in the presentation that was made to the Board in this case?

MR. SMITH:  Mr. Thompson, the transcript says what it says.

The reference to the use of FT RAM is reflected in the agreement -- sorry, in the interrogatory.  The optimization of Union's upstream portfolio is reflected in the prefiled evidence.

In any event, I don't think that is a relevant consideration, having regard to our general position that this is -- the fact that whether or not parties knew or did not know at the time is actually not a relevant consideration.  I disagree with you on the relevance of that.

But, in any event, we say it was referred to.

MR. THOMPSON:  Okay, those are my questions.  Thank you very much.  I apologize for taking longer than expected.

MR. MILLAR:  Thank you, Mr. Thompson.  Mr. Quinn, I think you are next.  We will probably look to take a lunch break somewhere around 12:30.  I think you will probably be a little bit longer than that, but if you could keep your eye on the clock and maybe look for an appropriate time to break around then?
Questions by Mr. Quinn:

MR. QUINN:  Yes, I will do that Mr. Millar.  Thank you.

I prepared not quite as extensive a compendium as Mr. Thompson, but I did submit one last night.  I did bring paper copies.  I trust the witness panel has copies of the compendium from last night?  I can just distribute to those who may want to follow along.

MR. SMITH:  The panel was provided with a copy of your compendium, Mr. Quinn.  As you know, that compendium was provided at midnight last night.

While it is fewer than 343 pages, the panel has not -- has not had a significant opportunity to review it, given the time and Mr. Thompson's own compendium.

MR. MILLAR:  We will mark it as KT1.4.
EXHIBIT NO. KT1.4:  COMPENDIUM OF DOCUMENTS FROM CITY OF KITCHENER.

MR. QUINN:  Thank you.  For clarity, which was in the e-mail that I didn't attach, all of the contents are from the rebasing, with the exception of -- sorry, the rebasing proceeding with the exception of the first page, which is the most recent QRAM.  So I was providing this for efficiency as opposed to bringing all of the binders from the 2010 proceeding, but I understand that your folks have been busy, so I will respect that if they need extra time to look it over.

So the very first page of the compendium is the schedule that was extracted from Union's EB-2012-0249 QRAM.  Do you have that?

MR. ISHERWOOD:  Yes, we do.

MR. QUINN:  I am going to take a step back and I will refer back to this.

But at a high level, we spent a little bit of time with your gas supply plan, Mr. Isherwood, and you enlightened us in the 2013 rebasing proceeding.

But one thing that escaped clarity, from my perspective anyway, when you use SENDOUT, is SENDOUT used to determine the assets needed primarily on the basis of the March 1st peak day for each respective year?

MR. ISHERWOOD:  I think that is probably a better question for Mr. Quigley in terms of the detail, but it is definitely based on our peak day.  It's based on our peak day, as well as our annual requirements.  There's really two conditions you're trying to sell it for.

MR. QUINN:  But the peak day is used as the initial requirement.  If I understood, because I went through the transcript, he said it was an iterative process to figure out inventory levels required for the March 1st peak day.

MR. ISHERWOOD:  Again, I thought in the north it is the coldest day we have had in the last 50 years.  I'm not sure it was the coldest day on March 1st, but, again, a better question for Mr. Quiqley.

MR. QUINN:  So coldest day north, March 1st south.  But it is a peak day design as opposed to a seasonal, and the seasonal is worked out based upon the iterative approach of required inventory levels?

MR. SMITH:  Sorry, Mr. Quinn.  There were specific questions you went through with Mr. Quigley on this topic.

If you had -- well, there are specific questions already in the 2013 rate case.  I don't see how this is related to FT RAM.  You put these questions to the gas supply panel.

MR. QUINN:  This is where we get caught periodically.  This is not FT RAM issue.  This is transportation portfolio and the use of the transportation portfolio.

I am trying to understand the design.  Mr. Isherwood said earlier to Mr. Thompson that everything is based upon that initial design.  I am just trying to get clarity on what that initial design is.  Is it peak day?

MR. ISHERWOOD:  You're always solving for two parameters.  You need to meet the peak day and you need to meet your annual demand.

MR. QUINN:  The second one is done as an iterative basis with the peak day design.  You then double-check your inventory levels for deliverability?

MR. ISHERWOOD:  There are a number of constraints.  You have source constraints.  You have pipe constraints.  You have peak day different times of the year.  You have annual demands changing from year to year.

It is a complicated process.  So it would be iterative.

MR. QUINN:  That's what we got, but I understand the primary solve is for peak day?

MR. ISHERWOOD:  I would have thought -- I would have said you solve for both annual demand and peak day.

MR. QUINN:  So your linear program model is solving for both at the same time as outputs?

MR. ISHERWOOD:  I think Mr. Quigley would be trying to find a plan that meets both purposes.  And how SENDOUT interacts with that would be up to Mr. Quigley's expertise and mind.

MR. QUINN:  Well, we will rely on his answers framed by, I guess, the evidence that is on the record, and I am going to defer to the previous proceeding, but we'll have to rely on aspects in what we deliver in this specific proceeding.

So as opposed to going over all that ground, since Mr. Quigley is not available, I guess, Mr. Isherwood, this I understand would be your realm of knowledge, because it is underneath your responsibility.

But in the last ten years, has Union pursued a peaking service for the eastern zone?

MR. ISHERWOOD:  We have bought peaking services at Parkway to meet Union south requirements.

MR. QUINN:  I said specific to the eastern zone.  Have you requested any form of RFP in the last ten years for a peaking service to the eastern zone?

MR. SMITH:  Sorry, what does this have to do with revenues earned in 2011, Mr. Quinn?

MR. QUINN:  This has relevance to how the gas supply plan is come up with, in this case as applicable to 2011, and what alternatives are considered, and the outcomes of which we're looking at now in terms of the deferral account implications.

MR. SMITH:  I don't agree.

MR. QUINN:  So I guess I would ask the question:  Has Union pursued it in the last ten years?

MR. ISHERWOOD:  Parkway is part of the eastern zone, so we have bought peaking services at the eastern zone.  If your question is around the EDA, I am not sure.

MR. QUINN:  Thank you.  You're not sure.  Would you undertake to check?

MR. SMITH:  No.

MR. QUINN:  Would you undertake to check if they're pursued for the winter of 2011 -- sorry, for the calendar year, any time during the calendar year of 2011?

MR. SMITH:  No.

MR. QUINN:  Why not?

MR. SMITH:  I don't understand how this is relevant to the treatment of optimization revenues earned by Union in 2011.

MR. QUINN:  The foundation of the gas supply plan, which is what Mr. Isherwood told Mr. Thompson you are relying on to say this is our asset base from which we then strike optimization, it is apparent that there are alternatives, and we're asking what -- the range of alternatives that were considered.

MR. SMITH:  I don't understand how that is relevant to the optimization activity that Union actually undertook in 2011.

MR. QUINN:  It provides us the range of alternatives considered.

MR. SMITH:  And what does that have to do with the optimization revenues that were actually earned?

MR. QUINN:  It strikes the original asset -- it speaks to how the original asset base was constructed.

MR. SMITH:  I don't agree as to the relevance, Mr. Quinn.
Questions by Mr. Shepherd:

MR. SHEPHERD:  I am going to jump in here, because I am a little bit concerned.

This is a proceeding in which, as far as I know, there is not supposed to be an oral hearing.  And as soon as we start to get refusals in the technical conference, which is the only oral component, we run the risk that an oral hearing will have to be called.

And so unless there is some particular reason, other than you don't think it is relevant, why the witnesses shouldn't answer these questions that are very specific to the year in question, I would encourage Union to reconsider that refusal.

MR. SMITH:  Well, I am prepared to certainly reflect on it after today's proceeding, Mr. Shepherd, but I don't think that the company has a different obligation to answer questions which are not relevant to this proceeding because of the way in which this proceeding has unfolded.
Continued Questions by Mr. Quinn:

MR. QUINN:  Thank you, Mr. Shepherd.

I will move on and maybe we will revisit that.  Okay.

So I was bringing you back originally to my compendium and the QRAM table that appears in EB-2012-0249, tab 1, schedule 3, page 4 of 6.

And you have that still in front of you?

MR. ISHERWOOD:  We do.

MR. QUINN:  Okay.  Now, Mr. Thompson was starting to try to get some clarity in this area, but I want to be crystal clear about it.

Can you walk us, first, through what this schedule shows?  And, to Mr. Smith's concerns, we do have reflected July through December of 2011.  I am more interested in the mechanics of the table, but if you want to refer specifically to the 2011 implications, walk us through this table and what is calculated here.

MS. ELLIOTT:  So this is a schedule that breaks down the south purchase gas variance account.

Starting with column A on the left-hand side, it reflects the gas purchase cost incurred for the month and the volume that was purchased.

Column C is simply a calculation that takes the purchase cost divided by the volume, compares that to column D, which is the reference price.  And the reference price, as you'll note, will change every quarter as the QRAM process changes the reference price.

It calculates a rate differential, which is the amount that goes into the deferral account, so that it's the differential in the rate times the volume.

Essentially, column F is the variance in purchase cost.  There was an expected variance in purchase cost, so column G will represent what the ratepayers have received already in the benefit, setting rates, with column H being the difference between the variance as incurred and the amount credited to rates.  And it is column H, essentially, that is then rolled forward into the QRAM process for prospective recovery.

MR. QUINN:  Okay.  Thank you.

I wanted to, then, just go back through a couple of columns, to understand what goes into it.

The first column is -- well, I will just -- I think this is intuitively obvious, but your first purchase cost, this is actual purchase cost for the month?

MS. ELLIOTT:  Actual commodity purchase cost for the month, yes.

MR. QUINN:  Now, you used the word "commodity" --

MS. ELLIOTT:  Sorry, in the south, that will be the cost of gas delivered to Ontario.  So the south deferral is a combined commodity and transport deferral account.

MR. QUINN:  So these are actual commodity and transport purchases specifically here for the month of July 2011?

MS. ELLIOTT:  Yes.  Yes, that's correct.

MR. QUINN:  Okay.  Now, column B is the volume.  Now, I assume, again, this is actual volume?

MS. ELLIOTT:  Yes.

MR. QUINN:  Now, in discussing this with Mr. Thompson -- and I was trying to follow along -- you made -- you alluded to the fact that if it is differences in forecast versus actual volume, there was different treatment.

Can you help me with that?

MS. ELLIOTT:  Okay.

MR. QUINN:  Like, and -- I will wait for that explanation and I have a follow-up question.

MS. ELLIOTT:  The schedule you provided here is the south purchase gas deferral.

The reference -- and what I referred to in terms of differences in volume affects the north.

So the north portfolio is a combination of commodity at Alberta, plus transport delivered to each of the delivery zones, plus some diversion cost, plus some STS costs.

And if you change the mix in the north -- more gas to the west, less gas to the eastern zone -- that is not captured in deferral accounts.

MR. QUINN:  I was pausing because I was waiting for you to come back to the south, which is on this page.

Can you tell me, is there any -- I don't see actual volume being compared to forecast volume.  Are there any differences in deferral account handling if your forecasted volume varies when you come up with the actual?

MS. ELLIOTT:  No, because there's a unit price differential.

MR. QUINN:  So forecasted volume really doesn't matter?  There is no difference in how the costs are treated if the actual volume is different from forecast volume?

MS. ELLIOTT:  The relevance of the forecasted volume is that is what is used to come up with the plan.

MR. QUINN:  But it doesn't find its way into deferral account treatment?  It is irrelevant at that point?

MS. ELLIOTT:  Volume variances are not -- the volume variances don't make their way through the deferral accounts in either case, in either the north or the south.

MR. QUINN:  Okay.  If we move to column C, you have the weighted average price.  Now, I think I heard you say before the weighted average price would include both the commodity and transport components; correct?

MS. ELLIOTT:  In the south purchase gas variance account, yes.

MR. QUINN:  On this specific tab 1, schedule 3, page 4, this has both commodity and transport?

MS. ELLIOTT:  Yes.

MR. QUINN:  Okay.  So you told me that the amount delivered of actual versus forecast is irrelevant.

What happens -- or how is -- or is -- let me try to frame a better question.

Differences in the quantity of gas transported, how would that be reflected in this deferral account calculation?

MS. ELLIOTT:  They're not.  So if we move more or less gas than we forecast, that will be offset by either higher or lower sales or higher or lower inventories.

MR. QUINN:  Okay.  What if you change the mix of transport from what you had forecast to how you actually delivered it?

MS. ELLIOTT:  If it was a supply mix, it will show up in the average price.

MR. QUINN:  Well, no.  I asked if you change the transport mix, so you are still getting the gas, the actual volume was delivered, but you delivered it in a different fashion.

MS. ELLIOTT:  The difference is, depending on the -- the reason for the change in delivery point, if you are looking at the optimization, that variance is part of the exchange revenue, because an optimization transaction is entered into to facilitate exchange revenues.

Those are not captured in the deferral account.

MR. QUINN:  You started with it depends on what you are using it for and you dealt with the optimization scenario.

What is the other scenario?

MS. ELLIOTT:  If the supply plan alters the routes in the south, there could be a variance in the deferral account if it was moved through Vector versus TransCanada.

But the supply plan is balanced when it starts, and it's... so there could be a variance if the plan is executed to change the mix.

MR. QUINN:  Who decides on that change in mix?

MR. ISHERWOOD:  The gas supply plan is created by the gas supply group.  So the gas supply group would be the ones creating the plan, obviously.

MR. QUINN:  So they create the plan, but at some point there is a decision point to, using Ms. Elliott's example, not move it through TransCanada but move it to Vector.

Who makes that decision?

MR. ISHERWOOD:  That would be an annual decision.  So even in the current filing, we have four new transportation options that are being implemented, number one.  So that is an example of how of some of the supply changes from year to year.

MR. QUINN:  But again, you said decisions sometimes happen month to month, day to day.

If somebody decides next month:  We want to take this gas a different route, who makes that decision?

MR. ISHERWOOD:  The plan is executed.  So the pipe is filled as required.

To the extent we get long supply because of a warm winter, we may leave some pipe empty and, as we talked about, we assign that away.  But we wouldn't, mid plans, change routes typically.  That is not normally done.  We assign contracts for a year at a time or multiple years at a time.

Now, for short supply, it being a cold winter, then we may go looking for incremental supply.  That is typically Dawn purchased.

MR. QUINN:  Typically Dawn purchased.  But if it is landed in other fashions -- well, even the Dawn purchase you're going to have an embedded transport component in your landed Dawn price; right?

MR. ISHERWOOD:  I think what happens is your total purchase cost goes up, in this example, and your volume goes up, so you get a different weighted average price.

MR. QUINN:  So, implicit, there is a transport component in that Dawn landed price?

MR. ISHERWOOD:  There is no gas produced at Dawn, so any gas we buy at Dawn has transportation in it.

MR. QUINN:  Say it again more slowly.

MR. ISHERWOOD:  There is no gas produced at Dawn, so any gas we buy at Dawn implicitly has somebody delivering it to us Dawn, or delivering it to Dawn and we're buying it at Dawn.

MR. QUINN:  So the market price recognizes that it is at the Dawn location and, therefore, if you are weighting it back or you're measuring it back to an Empress price -- sorry, do you need a moment?

MR. ISHERWOOD:  No.

MR. QUINN:  Okay.  So if you are measuring it back to an Empress price, you are not comparing apples to apples with Dawn and Empress.  The difference between Dawn and Empress is implicitly the cost of -- the market's view of the cost of moving it from Empress to Dawn at that time?

MR. ISHERWOOD:  No.  I would say when we buy gas at Dawn, it's based on -- we don't know how the gas got to Dawn.  It could have been Vector.  It could have been TransCanada.  It could have been Panhandle.  It could be MichCon.

It is just the value of gas at Dawn on that day.

MR. QUINN:  But you had to come up with an original price based upon an expected mix?

MR. ISHERWOOD:  Not for spot gas.

MR. QUINN:  No.  I'm saying for your portfolio, that it is reflected in the QRAM.  As you do your forecast, you have an expected mix of transportation?

MR. ISHERWOOD:  We would have used a third party consultant to provide us with a Dawn price going forward.  So we would use something like an ICF, for example, or somebody else who would give us a forecast of Dawn pricing.

MR. QUINN:  What you filed with the Board is the expected commodity price at Empress, and then through the calculation of the south portfolio differential, you say, And this will be the ultimate landed price here for the south; correct?

MS. ELLIOTT:  So the south portfolio cost differential is the difference between the reference price.  So the reference price in Ontario is the landed Ontario price from Empress and the portfolio as per the plan.

So the plan will have a mix, and the south portfolio cost differential is the variance, the unit cost differential between the reference price and our portfolio cost.

MR. QUINN:  And that is recognizing -- that is calculated because it is recognizing you have multiple pathways the gas may travel from Empress?

MS. ELLIOTT:  It is recognized -- it recognizes the portfolio cost.  The gas doesn't all come from Empress.

MR. QUINN:  No, I understand that.  But your reference price for your commodity is still at Empress; correct?

MS. ELLIOTT:  Yes.  The reference price is at Empress, but the portfolio cost to differential reflects the plan sources.

MR. QUINN:  So to break this down, your commodity reference price is Empress.  Your Ontario landed reference price is Union south, would you call it?

MS. ELLIOTT:  Yes.

MR. QUINN:  Okay.  And your south portfolio credit differential, if I've got that acronym right, is a way of calculating the difference between the eastern zone price
-- the eastern zone transport price and what the landed price tells you about what your implicit transportation costs would be?

MS. ELLIOTT:  Yes.  I think of it as the difference between the weighted average cost of our portfolio as planned and the reference price.

MR. QUINN:  But it's trying to take into account that there are a variety of paths that gas may get to Union south and you are trying to come up with a transportation rate?

MR. SMITH:  No, Mr. Quinn.  It takes account of the fact that Union has a supply mix in the south on a planned basis, and the calculation is from the reference price to the difference in that planned supply mix.  It's not as you have described it.

MR. QUINN:  Ms. Elliott, did I miss something, then, that that south portfolio differential price is calculated based upon your expected portfolio versus the eastern zone toll?

MS. ELLIOTT:  It is calculated based on Union's planned supply portfolio compared to the reference price, which is the eastern zone toll plus the Alberta border commodity.

MR. QUINN:  So using that eastern zone toll and adding the commodity price, you in essence have created a value of gas that has both the commodity at Empress and the transport to the eastern zone?

MS. ELLIOTT:  That's the reference price.

MR. QUINN:  That's the reference price.

MS. ELLIOTT:  Yes.

MR. QUINN:  So when you have a landed portfolio that is going to vary from that, you already have a commodity price that you are establishing.  You need to separate out an implicit transportation price.  That reference -- that calculation is determining what price you are going to charge for the transport component; is that not correct?

MS. ELLIOTT:  I didn't follow that.

MR. SMITH:  I didn't understand the question.

MR. QUINN:  How do you calculate the transportation component of your bill in the south?

MS. ELLIOTT:  Are you talking the end user's rate?

MR. QUINN:  Yes.

MS. ELLIOTT:  I assume -- I'm not directly responsible for the rate design, but I assume it is our weighted average cost of gas, as per the supply plan, split between commodity and the residual, being the transport.  So the commodity is the Alberta border, and the transport is the difference between WACOG and the Alberta border.

MR. QUINN:  So that's what I was asking, and maybe I was not asking it with the vernacular you would use, but your transportation rate that you charge your customers is based upon that process of establishing what the difference between the landed cost of gas is in Ontario and the reference price at Empress?

MS. ELLIOTT:  The difficulty I have with that is that you can't purchase -- in the south, you can't purchase commodity separate from transport.

So what you pay in total is our planned supply portfolio average cost.

MR. QUINN:  Tell me why it is that you can't purchase the commodity separate from transport in the south.

MS. ELLIOTT:  If you take direct purchase in the south, you deliver your gas to Ontario.  You have to take the service entirely upstream.  You can't separate commodity from transport.

MR. QUINN:  I wasn't speaking about direct purchase.  Let's deal with system gas, because this is your QRAM.

So why is it you can't buy commodity separate from transport in the south?

MS. ELLIOTT:  It's not a service we offer customers in the south.

MR. QUINN:  No, but you can -- Union Gas can buy commodity in the south separate from transport.  You just alluded to an example where you would buy the gas at Dawn instead.

MS. ELLIOTT:  Sorry, gas at Dawn includes a transport component.  We don't separate the cost of gas in the south into a commodity and a transport component on the purchase side.  We separate it on the sales side, but it's -- the sum of the two is our average cost.

MR. QUINN:  But to establish the commodity rate for the sales side, you're using this process of recognizing the difference in your portfolio versus a transportation toll to the eastern zone?

MS. ELLIOTT:  We're recognizing the difference between our cost to deliver gas to Ontario and the reference price, which is the cost to deliver the gas to the -- Alberta gas to the eastern zone.

MR. QUINN:  So would you agree with me that that is an implicit transportation cost?

MR. SMITH:  That what is an implicit transportation cost?

MR. QUINN:  The result of that calculation.  The commodity cost is the commodity cost at Alberta; it is referenced and it is fixed.

MS. ELLIOTT:  Not if I don't buy my commodity in Alberta.

The Alberta reference -- the Alberta price is a reference price, not necessarily where we purchase our commodity and our supply plan.

MR. QUINN:  But your revenues you achieve from your transportation component of your bill are collected from your customers based upon a transportation rate that is calculated in this fashion?

MS. ELLIOTT:  Again, they're calculated based on the delivered cost to Ontario.

So it is an average that includes the commodity and the transport.

MR. QUINN:  So to the extent that you came up with a calculation that calculated an expected transport cost, to the extent, as we went through a couple of examples, whether you are short or long gas, you have to change your mix of gas arriving at Dawn, that is going to change the implicit transportation component of the calculation?

MS. ELLIOTT:  It's going to change the delivered cost.  I'm not sure whether it is the transport or the commodity that changes, but it will change the unit price of the delivered gas.

Again, we don't separate transport and commodity when we're looking at this.

MR. KITCHEN:  Mr. Quinn, I think where you may be somewhat confused is that as part of the QRAM methodology, the commodity price is fixed at the Alberta border price.

And any difference between the actual cost of gas in the south and the landed Ontario price is reflected in the SPCD, which is set -- which offsets the transportation rate.

When we developed the QRAM methodology back in 2004, we could have just as easily put the SPCD to the commodity, but we chose to put it to transportation.

So I think what Ms. Elliott is saying is that -- that the combination of the commodity rate and the transportation rate adjusted for the SPCD gets you the landed cost.

MR. QUINN:  With the underlying premise, Mr. Kitchen, that the commodity reference price is Empress in both situations, but --


MR. KITCHEN:  But not necessarily where we purchase the gas from.

MR. QUINN:  Not necessarily where you purchase the gas from.  I agree with you.

MR. KITCHEN:  If ideally what we could have done -- we couldn't do this because we needed a reference point for the south PGVA, which is a total price, you know, you could in an ideal world, calculate what your landed -- sorry, your weighted commodity cost is, and have a weighted transportation, in which case the SPCD would be split between the commodity rate and the transportation rate.

That is the only way to get to an implied landed transportation rate, as you are suggesting.

MR. QUINN:  But you kept the commodity fixed at Empress in part because it is the reference point not only for yourselves, but for direct purchase customers?  So that people are comparing apples to apples; correct?

MR. KITCHEN:  I don't know if that is correct or not.  I would have to go back and look.  But it really came down to, at the time, a way to easily affect the result which we needed to have, which is that the southern customers pays the landed cost of gas.

MR. QUINN:  Can you provide to us, then, by way of undertaking the original evidence on which you rely upon, that says:  This is how we came up with this approach and this is -- that demonstrates, I guess, in the question I have in reviewing that, is:  Which component was the SPCD and this reference price designed to affect?  The commodity component or the transportation component?

MR. KITCHEN:  So you are asking us to provide the evidence from 2004, when we -- I think it was 2004 that we actually put the SPCD into place.  And I do recall you also participated in the QRAM review.

MR. QUINN:  Sorry?

MR. KITCHEN:  And you've also participated in the generic QRAM review.  So why don't we look and see what was said there?  And if we can give you something, we will do that.

MR. QUINN:  Okay.  Specifically, which component was it designed to address, commodity or transportation?

MR. KITCHEN:  I don't understand when you say "designed to address."

The SPCD is part of the transportation.

MR. QUINN:  It is part of the transportation.  Well, that is what I have been trying to -- when I have been using the term "implicit transport" --


MR. KITCHEN:  SPCD, sorry.

MR. QUINN:  SPCD is designed to affect -- I almost want to use your words, but I can't recall them.

To affect the transportation component.  So there
is –-

MR. KITCHEN:  No.  No, that is where you are completely wrong.

MS. ELLIOTT:  If you go back to before the SPCD and the reference price existed, the Union south portfolio was measured as a weighted average cost of gas.  Everything went in and a weighted average cost was calculated, and all purchases were referenced against that.

So the variance to WACOG was what was captured.

And all we have done in facilitating to get a standard terminology in coming up with an Alberta border price that can be used by direct purchase, that can be used by the north, is deem a certain value to the Alberta border in Union's weighted average cost of gas and calculate the differential on the transport.

But I don't think the south purchase cost differential is only a differential on transport; it is a combined differential on commodity and transport.

MR. QUINN:  But it is used to provide your transportation rate that you put on your bill for your customers?

MS. ELLIOTT:  On the sales bill, it happens to be grouped with the transport piece, to keep the commodity isolated to the Alberta border.

But it isn't necessarily only transport differential; it is the difference between the weighted average cost of Union's portfolio and the reference price, which is Alberta border, plus eastern zone toll.

MR. QUINN:  So to the extent your portfolio changes -- sorry.  I heard Union say they were going to take the undertaking to provide the 2004 evidence.

Can you take that, Mr. Smith?

MR. SMITH:  No, that is not what we said.  What we said was we would go back and look at the material in the generic QRAM proceeding.

MR. QUINN:  But if there is not significant detail in that proceeding -- Mr. Kitchen was, off the top of his head, remembering the original design of it, and I think that might be more informative to the process.

MR. SMITH:  Well, I don't think so.

MR. QUINN:  Well, that is what I am asking --


MR. SMITH:  We will take a look at the generic QRAM proceeding.

MR. QUINN:  And if there isn't substantive information, would you take a look at the 2004 to see if it was substantive?

MR. SMITH:  I will consider that request.

MR. MILLAR:  JT1.2.
UNDERTAKING NO. JT1.2:  TO RESPOND BY REVIEWING EVIDENCE IN QURAM PROCEEDING AND IF NECESSARY, 2004 MATERIAL

MR. QUINN:  It is almost 12:30 and I know this has taken a little longer.  So I will be a little longer than originally forecast, Mr. Millar, just as a heads-up.

MR. SMITH:  Sorry.  Before we jump to lunch, how much longer do you anticipate being, Mr. Quinn?

MR. QUINN:  At the pace we're going, it is hard to come up with an estimate.  I had given an hour as an estimate, but that was dependent on the responses and undertakings and clarity in communication.

And so we seem to still be struggling, and so --


MR. SMITH:  I don't know what any of that means.  How long do you think you are going to be?

MR. QUINN:  An hour, plus or minus.

MR. SMITH:  Are there other parties who have questions?

MR. AIKEN:  I just have one question that Dr. Higgin left me.

MR. MILLAR:  Jay, do you have anything?

MR. SHEPHERD:  No.

MR. MILLAR:  Murray, do you have anything?

MR. ROSS:  No.

MR. MILLAR:  Staff may have a couple of minutes, but may have nothing.

John?  Anyone else?

Okay.  Is an hour sufficient for lunch?

MR. SMITH:  Yes, it is sufficient.

MR. MILLAR:  Let's come back at 1:30.  Thank you.

--- Luncheon recess taken at 12:31 p.m.

--- On resuming at 1:30 p.m.
Preliminary Matters

MR. MILLAR:  It is 1:30.  Mr. Quinn, are you prepared -- actually, before we begin, Mr. Smith, there was a bit of confusion regarding exactly what had been undertaken with Undertaking JT1.2.

Could you clarify what Union has undertaken to do, and, if you need some time and you want to do it in an hour, that is fine, too, if you need a moment to collect yourself?  Can you tell us what Union has undertaken to do?

MR. SMITH:  The confusion I have is completely unrelated.  It is related to -- I don't know what KT1.2 was.

MR. MILLAR:  JT1.2.

MR. SMITH:  But if it was Mr. Quinn's last question in relation to the QRAM, I thought what we had agreed to do was to go back and look at the evidence filed in the generic QRAM proceeding to respond to his question, and if, on reviewing the generic QRAM proceeding evidence, it wasn't sufficiently descriptive, to go back further and see if we could find something in 2004.

That is what I had understood we were agreeing to.

MR. MILLAR:  That's helpful.  Mr. Quinn, are you prepared to continue?
Continued Questions by Mr. Quinn:

MR. QUINN:  Yes, I am.  Another technical difficulty here, but with Mr. Shepherd's assistance, I think I am ready to go.

If we can refer back, panel, to the compendium, KT1.4, the series of pages following the QRAM page we discussed before the break are transcripts, just for your reference, from the rebasing proceeding.

I just wanted to focus on one aspect, but I will give you a moment to read it.  If you can turn up on page 130, Mr. Isherwood, we were having a conversation about the use of FT RAM.  Do you have that?

MR. ISHERWOOD:  I do.

MR. QUINN:  Okay.  Starting at line 21, I read here:
"So the one option would be we would just leave the contract from Empress to EDA empty and we would flow from Empress to Dawn on IT and we would do that ourselves.  That is one option."

So that's a gas supply option, is it not?

MR. ISHERWOOD:  No.  I think -- now, maybe to give a fuller answer, but the other piece that is attached to that obviously is with the unused FT RAM, IT credits, we would then sell an IT exchange.

MR. QUINN:  But I want to be clear.  That is an option available to Union, is that it could choose to leave the pipe empty and flow the gas to Dawn on IT?

MR. ISHERWOOD:  That would be an incremental cost to the customer at that point, right, because the customer would still be paying the long haul cost of the pipe and they would be paying for the IT to get it to Dawn.

MR. QUINN:  The IT purchased with the FT RAM credits?

MR. ISHERWOOD:  Right.  So to go back, as I said earlier on, as I said back in the rebasing case, FT RAM, it gives you the flexibility and the tools, if you want, to be able to leave the pipe empty and flow in a different path.

If it wasn't for FT RAM, this same transaction, it would flow Empress to EDA, and we would go back on STS injections back into Dawn, and that is how the gas supply plan is set up.

FT RAM creates the opportunity where you can leave the pipe empty and flow it to Dawn, and that creates the other opportunity, which is the exchange.

MR. QUINN:  I am not locking at exchange.  I am looking clearly at the gas supply program.  And to take it out of the context of the exchange, you could have it go to the EDA, as you suggest, and then be injected STS.

But, hypothetically, could you leave the pipe empty and flow that amount of gas to Dawn using IT?

MR. ISHERWOOD:  I think you have to start with the first premise, Mr. Quinn, which is the market need for the exchange.  The only reason we're doing that transaction is because there is a market need for the exchange.

So because of the exchange, we're doing the other two steps to create the IT credits to offset the cost of the exchange.

So it doesn't start with leaving the pipe empty and going to IT.  It starts with the market need of the exchange.

MR. QUINN:  Well, I am not dealing with market need.  I want you to focus on gas supply, if you would.

So you've got pipe going to the EDA.  You've got a certain amount, 100 units, that are -- you have an FT contract in the summer for 100 units.

Could you leave the pipe empty and flow IT to Dawn?

MR. ISHERWOOD:  Well, there is no advantage to that.

MR. QUINN:  I asked if you could do that.  Is it commercially available for you to do that?

MR. ISHERWOOD:  I would say it is commercially available, but there is absolutely no incentive to do that.

MR. QUINN:  I am walking you through one step at a time.  First off, is it commercially available for you to do that?

MR. ISHERWOOD:  I said it is commercially available.

MR. QUINN:  So if it is commercially available, you now have floated to Dawn.  There is a difference in price, though, to Dawn as opposed to it would be to the EDA, correct, a difference in the cost of those IT credits?

MR. ISHERWOOD:  No.  No, because what you would be doing, Mr. Quinn, would be you're still paying the 2.25 or 2.24 and you're flowing now to Dawn and using some of the credits, and I use the term "leave the rest on the table".

MR. QUINN:  Well, I want to walk you through it one at a time.  You could take the gas to Dawn.  In that 100 units, you decide to do it using the IT and take it directly to Dawn.

That is one of your commercially available options?

MR. ISHERWOOD:  And if you stop there, there's no advantage to either Union or to the customer.

MR. QUINN:  I didn't say stop there.  I said:  Is that commercially available to you as an option?

MR. ISHERWOOD:  I have already answered that question.

MR. QUINN:  Okay.  And so you have some credits, as you say, that would be under-utilized?

MR. ISHERWOOD:  Unspent.

MR. QUINN:  Okay.  Can you give me a ballpark number as to the amount that would be unspent?

MR. ISHERWOOD:  It's all in the TCPL.  I don't have the number off the top of my head.  It's all in the TCPL tariff.

MR. QUINN:  It would be the 2.24 to EDA versus what's the total to Dawn?

MR. ISHERWOOD:  On an IT basis, that's right.  I guess it gets a bit more complicated with the way the TCPL accounts for the FT RAM credits.

MR. QUINN:  I understand the 10 percent and the IT, but that gives you spending power of apples to apples.

So do you know what the Dawn FT toll is?

MR. ISHERWOOD:  I don't, not off the top of my head.  It is less than the EDA.

MR. QUINN:  I was moving towards an undertaking, so maybe you can move through there.

I think Ms. Cameron might be helpful.

MR. ISHERWOOD:  Ms. Cameron may have it.

[Mr. Isherwood and Ms. Cameron confer]

MR. ISHERWOOD:  I guess the numbers we have that are going to be close, I guess, is the FT cost to go to EDA versus Dawn, and the FT demand charge is $63.84 per month to the EDA, and the FT cost to go to Dawn, again from Empress, is $53.88.

MR. QUINN:  That's the all-in cost including --


MR. ISHERWOOD:  That is just the demand charge.

MR. QUINN:  Sorry?

MR. ISHERWOOD:  Just the demand charge for FT.

MR. QUINN:  So the math, subject to check, you have approximately a 20 percent increment from the cost to go to Dawn versus the cost to go to the EDA?

MR. ISHERWOOD:  Yeah, roughly.

MR. QUINN:  Okay.  So in round numbers, again, just dealing hypothetically, you have 20 percent of your credits would remain unutilized if you move the gas to Dawn using IT?  Is that your point?

MR. ISHERWOOD:  Yes.  The math is a bit more complicated, but to just keep it simple, that would be fair.

MR. QUINN:  Rough numbers.  I'm talking hypothetically.

So what holds Union back from delivering 20 percent more commodity at virtually no cost to Dawn using that same type of construct?

MR. ISHERWOOD:  Because of the gas supply plan, you don't need the commodity.

MR. QUINN:  Okay.  Presuming that you had the foresight to plan ahead for this opportunity, what, if anything, would hold you back from delivering 20 percent more at Dawn?

MR. ISHERWOOD:  You have to go back, Mr. Quinn, to the gas supply plan, and the gas supply plan is based on the premise of firm assets, as you know.

And as I said earlier on, if this gas were to naturally flow to FT RAM, it would go to the EDA and back to Dawn using STS.  It is really two things that are in play here.  One is the fact we have FT RAM, which creates more opportunity than otherwise, but the most important factor is you have a market need to do an exchange.

If the market need for the exchange didn't happen, this gas would flow to the EDA and will come back to Dawn on STS, and that would be the end of it.

MR. QUINN:  Is the market need paramount to your gas supply plan?

MR. ISHERWOOD:  No, but the market need is paramount to the optimization plan.

MR. QUINN:  It is paramount to the optimization plan, but you have purchased these assets for the primary benefit of getting gas to your customers here in Ontario; is that right?

MR. ISHERWOOD:  No, but the other interest here obviously is we have transactional revenue built into our forecast, which goes to offset rates, and we have an incentive, through the incentive regulation mechanism on a couple of different fronts, to actually try to do as much optimization as possible.

MR. QUINN:  So you can do that optimization instead of serving the gas supply program with your assets?

MR. ISHERWOOD:  The gas supply program is served through the gas supply plan, which was extensively discussed in the last proceeding.

MR. QUINN:  Right.  So does that gas supply plan take into account the opportunities created by FT RAM?

MR. ISHERWOOD:  It does not.  The gas supply plan is based on the premise of needing firm assets in a firm –- firm delivery areas.

MR. QUINN:  But you said earlier it was firm assets to meet a peak day need, plus having the seasonal ability to deliver the amount of gas you need to Ontario; correct?

MR. ISHERWOOD:  There was the one graph that Mr. Shorts and, I think, Mr. Quigley had gone through extensively, that showed sort of the average day being delivered on FT.  And STS is really the swing that is used for both filling storage in the summer and meeting peak winter demands.

MR. QUINN:  I want to walk this through one at a time and we can be here for a time if we need to.

Simply put, you have a gas supply plan that is fulfilling your peak day need, and is balanced against the need to have gas here in Ontario.

Those are the two components you said the gas supply plan is working toward?

MR. SMITH:  Sorry, Mr. Quinn, maybe you could help me on this.

I had understood the preliminary issue the Board wanted to consider was the treatment of actual revenues in 2011 and whether or not Union had to treat -- had treated those revenues appropriately.

What you seem to be contemplating is if Union could have done something different in its gas supply plan.  And I don't think that that is an appropriate line of examination in this proceeding.

And if it was a line of examination you had wanted to follow in the 2013 proceeding, you had the opportunity to do so, and I am very concerned about the propriety of this.

So maybe you can help me out with how this relates to 2011 optimization transactions that were actually undertaken.

MR. QUINN:  This proceeding is about the 2011 deferral accounts.  We were asked, and tried to walk that line between what's 2013 and what is 2011.  Obviously, the line got very blurry, but I held these questions for this panel so we could quantify what alternatives were considered and what the implications would have been had the gas supply plan chose to use the FT RAM for the purposes of the gas supply program, using the assets that were purchased for the gas supply program.

So it is a relevant line of questioning.

MR. SMITH:  No.  To hear you say it the way you have just said it, it is apparent that the reason you are examining on this topic is for a collateral reason, to gain evidence, apparently, for use in the 2013 proceeding in relation to arguments you want to make about the gas supply plan.

And I don't agree that that is an appropriate line of examination.

MR. QUINN:  We have a set of assets that are purchased for gas supply.  Union is making choices about how those assets are actually employed.

Understanding the range of alternatives considered is appropriate to the decision-making and the actual use of those assets.

MR. SMITH:  I don't agree, Mr. Quinn, that that is an appropriate line of questioning, having regard to what the preliminary issue is that the Board asked the parties to respond to, which is whether or not optimization revenues were treated appropriately by Union in the context of its 2011 earnings sharing proceeding.

That is the narrow issue that the Board has asked the parties to address.

MR. QUINN:  That's the narrow issue, and we are here with one technical conference, to, one, understand that information that goes towards that narrow issue.

But to the extent the Board allows us to proceed after the preliminary hearing, we need to quantify what the implications would be to the deferral accounts.

Unless you are contemplating another technical conference, I need to ask my questions here.

MR. SMITH:  Well, I don't hear you saying, Mr. Quinn, that your questions are intended to address the particular narrow question that the Board asked the parties to address.

MR. QUINN:  That's the narrow question for the preliminary issue, but this is the proceeding to understand the deferral accounts, and I am asking questions that would help us understand, if these assets were used for gas supply, what the implications would have been.

MR. SMITH:  But how does that relate to the 2011 earnings sharing proceeding?

MR. QUINN:  It relates in terms of classification of these costs and what the Board ought to consider.

MR. SMITH:  How?  How?

MR. QUINN:  Because there is discretion on the part of Union in terms of how it is using its assets.

I have heard Mr. Isherwood already say it is commercially feasible that these assets could have been used for the gas supply program, but that wasn't in the gas supply program and was not contemplated to be used that way.

I'm saying that that's the primary utilization.  They ought to have considered that, and had they considered it, what would the commercial numbers work out to?

So this is simple math, but we're talking about a 20 percent differential, and I would like the witness to be able to respond to that.

MR. SMITH:  Why don't you ask your question?  I don't agree that any of this is relevant to the issues in this proceeding on the narrow issue or generally, as it relates to Union's 2011 deferral account and earnings sharing proceeding.

MR. QUINN:  It does, because it quantifies the impact of choices made by Union, and those choices may or may not be upheld by the Board.

MR. SMITH:  But to what end?  I mean, when you say that there are choices that Union made, even if you accept that premise, to what end?

MR. QUINN:  The Board would understand what the quantum of costs would be that have been visited upon ratepayers when other alternatives could have been considered.

MR. SMITH:  What quantum of costs, and visited how?  And in which deferral account that is being cleared in this proceeding, and the impact on earnings sharing?

MR. ISHERWOOD:  The impact on earnings sharing would be a classification issue.  And we have gone through this and you understand what the issue is, Mr. Smith.

These go to:  If the classification were viewed otherwise, what would the impact be?

MR. SMITH:  Mr. Thompson asked questions about that earlier today.  And the numbers were discussed, as it relates to the reclassification of these numbers if the premise of his position were accepted.

So I don't understand what you are trying to get at.  I mean, we have already talked about the numbers, as it were.  While we disagree with the proposition, we have already talked about those numbers.

MR. QUINN:  And I'm saying that the assets could have been used for their primary purpose, and if they had been used, what would the implications be?  And that's to the question of the classification.

MR. SMITH:  Well, we're like ships passing in the night.  I don't know what to say.

Ask your question.  I will consider it again.  I don't...

MR. QUINN:  Okay.  What I was dealing with was the hypothetical situation of delivering gas IT to Dawn.

Mr. Isherwood has provided that that wasn't part of the gas supply plan and would not be needed, because decisions are based on the basis of that plan.

I'm suggesting to him, hypothetically, that the gas supply plan could have included the value of FT RAM to the gas supply program, and decisions could have been made and put into the program differently, allowing for this 20 percent increment to be enjoyed by gas supply customers and not the shareholder.

So with that as a background, I wanted to ask for an undertaking to say what that implication would mean in terms of reduced cost.

MR. ISHERWOOD:  I think if you go back to the testimony on the 2013 case, Mr. Quinn, I think you had proposed a slightly different twist to the gas supply plan back then.  And if I remember correctly, Mr. Quigley was saying he'd have to rerun his whole send-out model and it was a lot of work.  And the same would be true here.

So if you make one change like that, what you're really doing not is delivering 20 percent more gas in the summer than your plan otherwise had.  That is going to imply you need a lot more storage; you need 20 percent more storage at a minimum.  And you will need more capacity in the wintertime to get that into the market.

So that kind of assumption throws the whole plan into a bit of a tailspin.  So you can't just kind of cherry-pick one item and say:  What does that do to your plan?  It throws it into a tailspin.

The plan is carefully balanced, as I mentioned earlier, to meet both the peak day as well as the annual demands.

MR. QUINN:  But it is being carefully balanced without using FT RAM as a consideration for the gas supply plan?

MR. ISHERWOOD:  For the one reason I just mentioned.  Buying a lot more summer gas would send the whole plan into a tailspin.

MR. QUINN:  But you still deliver gas at Dawn through your assignment program?

MR. ISHERWOOD:  Which assignment program?

MR. QUINN:  The FT RAM, using the FT RAM credits to be able to get -- access market value for the transport, and having the gas arrive at Dawn, as opposed to the EDA.

MR. ISHERWOOD:  That was always in the plan.  The plan was always to have EDA capacity, some gas always come to Dawn in the summertime.  This is part of the whole ST -- it would flow through STS normally.

FT RAM creates a different opportunity, a different route, but that gas was always in the plan to come to Dawn.

MR. QUINN:  But if you put into your model that 20 percent more gas could arrive at Dawn using the FT RAM credits, you'd have the potential of reducing spot purchases, would you not?

MR. ISHERWOOD:  Spot purchases for who?  The NDA doesn't buy spot at Dawn -- or, sorry, the EDA.  That gas is an incentive for  EDA customers, so you're assuming that in a normal winter -- we would be buying 20 percent spot in the summer.  We wouldn't do that.  That's not part of the plan.

MR. QUINN:  Do you separate your storage between the north and south, in terms of the quantum that is held for each of the respective franchise areas?

MR. ISHERWOOD:  There is costs associated to the north storage and costs to the south.

MR. QUINN:  Do you separate your storage and the amount you put into storage for the benefit of allocating just to north and to south?

MR. ISHERWOOD:  Yes, we do.  There is a cost allocation exercise that is done, for sure.

MR. QUINN:  There is a cost allocation, but the inventory management, is that done on a north versus south?

MR. ISHERWOOD:  It is integrated.

MR. QUINN:  It's integrated.  So you could use that extra gas for south?

MR. ISHERWOOD:  In a normal winter we don't need it.  And I can't predict in the summer if we will have a cold winter or not.  Even if I did predict we had a cold winter coming, I would need more storage.

MR. QUINN:  Presuming you started with what the storage cap would be, you could work backwards to how much you need to have arrive at Dawn, correct?

MR. ISHERWOOD:  Now your example is getting more complicated.

So, again, going back to Mr. Quigley's model, it is not as simple as changing one variable and seeing what happens.

MR. QUINN:  Well, we might have an opportunity to rerun that model.  We will have to come back to that.  Just give me a moment here.

What I would like to ask is that I get a quantification, at least, of what the impact would have been for the summer of 2011 as if you had assigned -- instead of assigning the capacity, what incremental amount could have been delivered at Dawn for April to October of 2011.

MR. SMITH:  No.

MR. QUINN:  Okay.  Then if Union is saying that, you know, it doesn't want to go back because it is a rerun of the model -- it's not.  To me it is an arithmetic calculation.

But to the extent that you used that capacity for IT deliveries to Dawn, please quantify, then, the amount of monetary value of the credits that would be left on the table April to October of 2011.

MR. QUINN:  I think we have already done that.

MR. QUINN:  Where have you done that?

MR. ISHERWOOD:  We have just gave you the two tolls.

MR. QUINN:  I want you to quantify, based upon the assignments you did, the actual assignments you did.  And I can point you - it is in the compendium - to J4.2, which is the summary of the assignments you made.

MR. SMITH:  Mr. Quinn, you can put your question on the record, but we are not prepared to engage in the hypothetical exercise that you want us to engage in.

We are not prepared to do it for all of the reasons Mr. Isherwood commented on, but you can by all means put your question on the record.

MR. QUINN:  Well, it is 4.2 and -- well, my question then would be:  Please provide, in a hypothetical scenario if the gas were delivered to Dawn using those -- the IT credits created by FT RAM for all of the assignments done in the summer of 2011, what incremental monetary credits would have been left over that would be unutilized by that approach.

MR. SMITH:  You have our position.

MR. QUINN:  Which is?

MR. SMITH:  "No".

MR. QUINN:  Okay.  I am going to walk back through using J3.6 again.  You did provide a summary to us in J6.5, and you used the 20,000 units of assigned capacity that was to the EDA.

I would like that J6.5 -- that format to be redone with the actual assignments, so all of the actual assignments done in the summer of 2011 -- calendar 2011.  Sorry, I said summer, but -- we will just focus on the summer of 2011.  No, actually, I think in this case here we want the whole calendar year.  My mistake.  I am jumping over the stuff that isn't going to be done.

So for calendar 2011, using all of the assignments that are done, complete the table that is generated 6.5 that breaks out the differences in demand charges and the net proceeds achieved from those assignments.

MR. SMITH:  I don't understand the question, Mr. Quinn.  What is it that you are asking us to do that is not on 6.5?

MR. QUINN:  6.5 deals with in a discrete 20,000 units of transports to the EDA.  I'm saying, for all of the assignments that were done in this fashion for the calendar 2011, to complete that table.

MR. ISHERWOOD:  When you say "fashion", you mean annual assignments?

MR. QUINN:  No, annual, monthly and seasonal.

MR. ISHERWOOD:  I thought J6.5 was dealing with the annual assignments in the EDA.

MR. QUINN:  It was dealing with one discrete annual assignment in the EDA.  I'm asking for all of the assignments.

MR. SMITH:  Why?

MR. QUINN:  Why?  To understand what the cost was of the capacity assigned, what the net proceeds were.

That is a question of fact, and we are dealing with calendar 2011.  So I believe it is relevant.

MR. SMITH:  To what issue?  What is it that you are trying to get at?  I mean, in terms of the net proceeds of -- the net amount of the RAM-related optimization revenue has been quantified in many different places.

MR. QUINN:  That chart breaks out the differences in demand charge versus the actual delivery location.

So Union could have contracted to deliver to those locations as opposed to delivering -- or taking a longer contract and using excess unutilized delivery for shareholder benefit.

So I'm looking at it and saying, if you have the demand charges to the respective actual delivery areas, you should be able to quantify the difference between the contract that was used and the actual delivery area in the same way you did J6.5.

MR. ISHERWOOD:  Just for the sake of saying it again, I guess, but you have to start with the premise that the gas supply plan is a basic underlying plan that you serve all of your delivery areas under, and that's going to be serviced primarily through FT, STS and a bit of short haul FT, potentially, in the EDA, as well.  That is the starting point.

And then with the RAM and with the market need to do exchanges, there is optimization opportunities that become available.  So --


MR. QUINN:  I'm asking for the assets to -- if we were to take that undertaking, you are delivering to a specified area that you know you provided that to the assignee.  The assignee is making delivery.  I'm asking you to quantify the difference in demand charges between what you contracted for and how you used it.

MR. ISHERWOOD:  I think -- I don't know if this helps you or not, but J.C-4-7-9 gives you the RAM revenue, if you want, for 2011 of 14.4 million.  So --


MR. QUINN:  That's the net proceeds.  I want the difference in demand charges.

MR. ISHERWOOD:  That is going to be very similar, right?  It is going to be similar.

MR. SMITH:  We are not prepared to do it, Mr. Quinn.

MR. QUINN:  This is a 2011 question.  It is about your delivery, the utilization of the capacity that you undertook in 2011.  How is that not factual or pertinent or relevant?

MR. SMITH:  Well, Mr. Quinn, I haven't heard the witnesses accept any of the various premises or any of the various hypotheticals you have put to them, and I don't think that we should just be redoing or expanding previous undertakings because you say that they relate to 2011.

What this proceeding is to talk about is what actually happened and not what might have happened, but didn't.

I'm not prepared to engage in the work that you are asking us to engage in.

MR. QUINN:  For what reason?

MR. SMITH:  Well, Mr. Quinn, I have articulated the reasons.

MR. QUINN:  Mr. Millar, I am in your hands, but I presume we would have to bring some motion, then, to compel, if we so desired, this information?

MR. MILLAR:  I think so.  Obviously, Staff is here to act as a moderator and ask the questions we have.  We certainly can't issue any rulings or help you in that regard.

There are other remedies that you are aware of, and if there is a refusal and you want a Board determination on that, you would have to avail yourself of those.

MR. QUINN:  Okay.  Well, tight time frame aside, we would like to have this undertaking accepted.  It was accepted in J6.5 with a panel -- in front of a panel.  Why it is not pertinent to 2011, when we're focussing on 2011 issues, is beyond me.

MR. SMITH:  Well, Mr. Quinn, it was a discrete request in the 2013 rebasing proceeding, with a limited scope.

You are now asking for a much broader scope, and we have additional evidence as to why the underlying premise of this entire line of examination is not how Union conducts itself, not how it conducted itself in 2011, and Mr. Isherwood has given you the various reasons for that.

So that is the additional explanation.

MR. QUINN:  So the additional scope is what you are concerned about, initially?

And I guess I haven't heard that from the panel.  This is a spreadsheet exercise to compare demand charges.  You've got a capacity table; you've got the respected delivery areas it was sent to.

How many hours would it take for this undertaking to be provided?

MR. SMITH:  Well, Mr. Quinn, I don't think, whether it takes five minutes or 10 hours, based on the fact that it is all premised upon, as I understand it, an argument you want to make that is not how Union operated in 2011 and not how it would propose to operate going forward.

MR. QUINN:  It's not what it chose to, but it was an opportunity available to it to plan to deliver to those locations based upon location need in the respective months.

So I guess asks the question:  What kind of exercise is this to calculate what the difference in demand charges would be?

MR. SMITH:  Well, Mr. Quinn, I didn't hear Mr. Isherwood say that this was an available opportunity that Union would ever have considered or that is a reasonable opportunity.

And the Board in the 2013 proceeding declined several requests to engage in hypotheticals.

But listen, I'm not here to try and cause a problem.  We will reflect on the transcript, and if we can provide an answer, we will provide an answer.

If ultimately we think it is relevant -- maybe I'm missing something.  I don't think so, but we will certainly give you our position within the next couple of days

MR. QUINN:  Well, I have experienced that before.  So I want to be clear for the record here.

I am asking for an undertaking which is a spreadsheet exercise, not a rerunning of the gas supply model.

Do you understand that, Mr. Isherwood?

MR. ISHERWOOD:  That's clear.

MR. QUINN:  Okay.  So under a spreadsheet scenario, can you -- at least for the purposes of informing the Board what kind of undertaking this might be, because that is a question they generally ask?

MR. SMITH:  No.  Mr. Quinn, I don't think that -- well...

MR. QUINN:  Your concern was the scope of the request I made, and I say that this is a spreadsheet exercise.

MR. SMITH:  Mr. Quinn, you have our position.  We will reflect on it and we will provide you with our position.

MR. SHEPHERD:  I wonder if I can just jump in here.  I want to be clear on your position, Mr. Smith.

It sounds like you are saying that it is not in scope in this proceeding to -- for the Board to look at whether what the applicant did in 2011 was appropriate.  That they're only allowed to look at what they actually did, without making a judgment on whether something else would have been better or more prudent.

Is that what you're saying?

MR. SMITH:  Mr. Shepherd, what I am saying is that in the 2013 rebasing proceeding -- well, let me just start with the underlying premise, that I don't understand, still don't understand, how this is relevant to the 2011 earnings sharing and deferral account proceeding.

This strikes me as additional evidence -- additional cross-examination, that to the extent my friend wanted to pursue it in relation to gas supply planning, should have been pursued in the rebasing proceeding.  That is number one.

Number two, the Board, in the rebasing proceeding, declined my friend's requests on a number of occasions to consider available -- hypothetical scenarios.  That is number two.

Number three, as I understand Mr. Isherwood's responses thus far -- this is why I say we will reflect on it -- as I understand Mr. Isherwood's responses, the premise of my friend's position is not something that -– it's not just whether Union would have done it or could have done it, it is:  Is this within the scope of a reasonable course of conduct?

And I understand there to -- the evidence at this point to be:  No, we would not have done, under any situation, what Mr. Quinn is considering.  That's three.

Four, I don't know the extent of the volume of work it would take to complete this.  The undertaking -- my recollection is this undertaking, whether it was a spreadsheet exercise or otherwise, took more than 10 minutes.  It took –-

MR. SHEPHERD:  Yeah, but you can't really make that argument, because you wouldn't let your witness answer how long it would take.

So if you won't let the witness, who knows how long it would take, answer, you can't make an argument that it would take too long.

MR. SMITH:  That's why I said allow us to reflect on it.

MR. SHEPHERD:  Then Mr. Quinn can't ask his follow-up questions, right?

MR. SMITH:  Why don't we do this?  Mr. Isherwood, how long would it take to complete this?

MR. ISHERWOOD:  I don't know.  I would have to consult with the folks back in the office.

MR. QUINN:  We're talking about multiplying 10,000 here, 20,000 there, by a difference in demand charges.

That's what I'm asking for, Mr. Isherwood.

MR. SMITH:  Mr. Quinn, every time people say that, they're wrong.  Every time people say it'll take five minutes, it doesn't take five minutes.  Sometimes it takes more; sometimes it takes less.

MR. ISHERWOOD:  You actually have to go back and track where each of the different assignments went to, so that, then -– right?

MR. QUINN:  Well, you were able to provide it for 6.5, where they went to.

MR. ISHERWOOD:  That was one deal, one delivery area.

MR. QUINN:  And you have counterparties who you had made assignments to; you had to give them direction as to where the gas should arrive for the respective months.

MR. ISHERWOOD:  I would say we would have all of the information, Mr. Quinn.  It is just a matter of compiling it all into a table.  That's why --


MR. QUINN:  So compiling, and then a spreadsheet; correct?

MR. ISHERWOOD:  Pardon me?

MR. QUINN:  Compiling the information and then putting it into a spreadsheet?

MR. ISHERWOOD:  It's that simple.

MR. QUINN:  It's that simple, but it is not the gas supply plan and redoing it; we're both on the same page there?

MR. ISHERWOOD:  Didn't catch the last sentence.

MR. QUINN:  We're not talking rerunning send-out to be able to do this; we're just looking at the history and the respective demand charges?

MR. ISHERWOOD:  I think your premise is that we could actually flow the gas to Dawn, and with the extra credits left over, flow more gas to Dawn?

MR. QUINN:  No, no.  We are on this second alternative. I went past the one you already refused.

This is J6.5, saying:  You decided where the respected delivery areas would be; what was the difference in the demand charges?

Similar to what you provided in 6.5.

MR. ISHERWOOD:  And what does that prove at the end of the day?

MR. QUINN:  What that provides us is an understanding of what it would cost if you moved to some form of STFT to be able to land gas in those areas.

You may or may not have it as part of what you want to do, but it may be something that we --


MR. SMITH:  Mr. Quinn, that is the point, and you stopped yourself from saying it.

You want to be able to argue in the 2013 proceeding you should be making more use of STFT.

MR. QUINN:  Here's --


MR. SMITH:  That is why you are asking these questions, not for this proceeding.

MR. QUINN:  Here is the deal, Mr. Smith.

MR. SMITH:  Period.  Full stop.

MR. QUINN:  Here is the deal, Mr. Smith.  I will go through your three points in a moment, but I am willing to take this undertaking on Friday after I have done my cross-examination, so I can't rely upon it.

That is not the intent.

And that is the first point you made, is you presumed that I was doing this for rebasing.  I'm not, and I just stated exactly what I am willing to do as a result.

You say you're not willing to look at hypothetical gas supply issues, but frankly, understanding how the utility comes up with the decisions and who is going to bear the cost and who is going to receive the benefit is something the Board should be considering in this proceeding, including the suggestion Mr. Shepherd made:  Was there a more prudent course of action?

So in terms of your concerns, I think we have addressed all of them.  If I missed one, tell me what it is.

MR. SMITH:  Well, Mr. Quinn let me just pick up on something you said.

As I understand this, you want to argue that you should have made more use of STFT in 2011.  Is that what you're saying?

MR. QUINN:  I'm saying the company makes choices in how it contracts and uses the assets, and to give the Board an understanding of what the implications of those decisions are, we would like to have the information.

MR. SMITH:  No, but I wanted to just pick this up, because you said that this isn't a rerunning of the SENDOUT model.

MR. QUINN:  Exactly.

MR. SMITH:  Right.  Except as I understand what you're saying, you want to argue that the company's gas supply plan should have looked different in 2011; and, if that is true, then the follow-on of that is you would have a different gas supply plan, which would have involved running SENDOUT to achieve a different result with a different mix of FT, a different mix of STS, a different mix of STFT.

If that is true, then I don't think that it's -- I don't think that you can say fairly that this is just a question of rerunning 6.5, because rerunning 6.5 doesn't tell you what your gas supply plan ought to have looked like in 2011.

MR. QUINN:  Well, let me ask the panel this question, then.

When you made your assignments, did you ensure your gas supply requirements were met?

MR. ISHERWOOD:  When we do the assignments, we still buy the same molecules we would otherwise have bought.

MR. QUINN:  So you would have landed them in the locations you need and the quantity that were needed in the gas supply plan?

MR. ISHERWOOD:  Not necessarily in the same area, but they would displace gas that could go to the same area.

MR. QUINN:  Where they were needed?

MR. ISHERWOOD:  So the example in this example on your compendium, the gas was intended to go to Dawn in the summer.  That is where it would normally go.  In this case, it landed right where we wanted it to go.

MR. QUINN:  Exactly.  So we're not talking about rerunning SENDOUT, Mr. Smith.  They have made had the assignments.

What we're saying is, based upon the assignments, they directed the gas to where it needed to go.  So we don't need to rerun anything to quantify what would it have cost had the company contracted for the gas to be delivered in those locations and not further downstream.

MR. ISHERWOOD:  I believe the argument is to use STFT in the wintertime, which would be changing the gas supply plan.

MR. QUINN:  If it is providing -- I want to ask you the question, then.

You directed where the gas went in the winter; correct?

MR. ISHERWOOD:  That's correct.

MR. QUINN:  If you contracted for STFT to that location, what would change in your gas supply plan?  Instead of doing the assignment, you contracted directly to that location?

MR. ISHERWOOD:  Well, again, as I mentioned at the beginning, the gas supply plan always covers off both the peak winter day issue or concern.  You've got to meet that and also meet the annual demand, the annual volume.

If you buy STFT, whether it's for a month or for the season, you're only buying gas for a part of the year.  So, again, you are upsetting the whole gas supply plan by buying STFT.  You haven't got enough gas supply on an annual basis.

MR. QUINN:  So your assignments put you in that position?

MR. ISHERWOOD:  No, they don't, because we still have -- the STFT is still an annual contract.  We're buying the same gas every day for the whole year.  We just direct it to different locations.

MR. QUINN:  You're just directing it to different locations, and those locations are acceptable for you in meeting your gas supply needs?

MR. ISHERWOOD:  But on STFT, you're only buying it for part of a year and you're --


MR. QUINN:  We will use the example of a winter contract.  If you assigned the gas to Dawn in the summer and to a specific location for the entire winter, you could replace that with Dawn delivered, if you would, from TCPL or Dawn purchase.  I'm not going to complicate things.  Let's just say you shifted your deliveries to a firm contract in the summer to Dawn, and then turn around and deliver to the respective location that you told the assignee to do it.

MR. ISHERWOOD:  I think the part that is missing there, Mr. Quinn, is when we have the long haul FT contract, it comes with the rights to have STS, which is our annual balancing service.

If you got rid of the long haul contract and just had STFT for winter, you would be missing the connection between Dawn and the EDA in the wintertime.

MR. QUINN:  If you had --


MR. ISHERWOOD:  Through STS.

MR. QUINN:  If you had an Empress to Dawn contract, you would still have the ability to inject into STS; correct?

MR. ISHERWOOD:  No.

MR. QUINN:  A long haul contract from Empress to Dawn doesn't cover --


MR. ISHERWOOD:  No.  You have to have a long haul contract from Empress to EDA to inject into an EDA balancing account.

MR. QUINN:  An EDA balancing account, okay.  I see what you're saying.

MR. ISHERWOOD:  Yes.

MR. QUINN:  So when you have an EDA balancing account and you assign that account to somebody to deliver in the WDA, are you getting your STS injections?

MR. ISHERWOOD:  You're saying to WDA in the wintertime, so you're not really looking for injections.

MR. QUINN:  Okay.  So in the summertime, you assign it and you send it to Dawn.  Are you getting your STS injection?

MR. ISHERWOOD:  If you're using IT on that basis, then you would not be.

MR. QUINN:  No.  You have assigned it to somebody else and somebody else is delivering it to you at Dawn.

Are you maintaining your STS rights?

MR. ISHERWOOD:  You're not getting STS injections in that case.

MR. QUINN:  Exactly.  So how is that any different from you contracting directly to Dawn for the quantities that you have assigned and asked them to deliver at Dawn?

MR. ISHERWOOD:  I think the difference is you have control.  When you're doing an assignment, you have control of when you do that and how you do that, and it is always considered to be a temporary optimization of the gas supply plan.

When you go to an STFT long term as part of your long-term plan, then you're permanently making that choice.

MR. QUINN:  You can't then go back next year and get an FT contract?

MR. ISHERWOOD:  Why would you?

MR. QUINN:  You say you're permanently making that choice. I'm challenging the fact I don't think it is permanent.  It is permanent for a year.

MR. ISHERWOOD:  I think your assumption is it is a better option, so you should be doing that longer term.

MR. QUINN:  But you said you would make it a permanent choice.  That is not correct, is it?

MR. ISHERWOOD:  I think your premise is it is a better choice, so it should be long term.

MR. QUINN:  I'm just working with what you gave me, Mr. Isherwood, and you said you're making a permanent choice, and I don't agree that that's the case.

MR. ISHERWOOD:  I agree.  You could go back and forth every year.

MR. QUINN:  Exactly.  So Union, as I understand it, has not contracted for STFT, is that accurate, in quantities -- has Union in 2011 contracted for STFT in sizeable quantity to meet its gas supply plan?

MR. ISHERWOOD:  Not to meet its gas supply plan, I don't think.  We have purchased a little bit of STFT for S&T activity, but not for the gas supply plan.

MR. SMITH:  In 2011.

MR. ISHERWOOD:  In 2011.

MR. QUINN:  Okay.

MR. ISHERWOOD:  But I still go back to the gas supply plan.  So when Mr. Quigley runs the optimization -- not the optimization, but the SENDOUT model, all of those parameters are being evaluated.

And in order to meet both the annual demand and the peak day demand, the combination that comes out of his modelling and his evaluation is a combination of long haul FT, a little bit of short haul FT into the EDA, and STS.  And that is the optimum mix.  That is what the gas supply plan in 2011 was based on.

MR. QUINN:  So the gas supply plan knows that from April to -- '11, a certain amount of gas is to arrive at Dawn?

MR. ISHERWOOD:  From, sorry, which?

MR. QUINN:  The gas supply plan presumes the ultimate destination for gas in the summer is Dawn?

MR. ISHERWOOD:  Some portion of it.  There is always demand in the EDA, but some portion of it needs to get back to Dawn.

MR. QUINN:  Understood and accepted, but when you assign these contracts to third parties, you know how much you need in your delivery area and how much you expect to be rerouted to Dawn?

MR. ISHERWOOD:  So we would not -- we're not assigning every part of the Dawn supply to Dawn.  We are just doing a part of it, right?

MR. QUINN:  Right.  So that is the part you have assigned?

MR. ISHERWOOD:  Right.

MR. QUINN:  And you're not getting any STS injection credits?

MR. ISHERWOOD:  That's right.

MR. QUINN:  So why is it you could not answer the question of what amount -- what is the difference in the contracts, demand charge that you have assigned versus what the demand cost would be to Dawn when they're essentially equivalent services?

[Ms. Cameron and Mr. Isherwood confer]

MR. ISHERWOOD:  So I'll go back to my initial suggestion that when you start to change one component of the gas supply plan, you need to look at it in the context of the entire gas supply plan, Mr. Quinn.  So you can't just look at one parameter.

What we're doing is optimizing the gas supply plan, and it is considered a temporary basis and to take advantage of temporary opportunity.  In this case, FT RAM is the opportunity.  It is all driven by the market need for the exchange.

So either FT RAM went away or the market need for the exchange at the end of this all went away.  We would just flow naturally to the EDA and back on STS.

MR. QUINN:  You keep coming back to this; it is driven by the market need.  I thought the assets were purchased for gas supply need primarily.

MR. ISHERWOOD:  But the optimization activity is driven by the market need.

MR. QUINN:  Correct, but these assets were purchased for supply need.

MR. ISHERWOOD:  If you go back to even 1993, as we talked about, this transactional and exchange account, we've had a long history of using exchanges to optimize the gas supply plan.  And those exchanges are always being driven by a market need.

MR. QUINN:  They may be driven by a market need, but that wasn't the primary purpose for entering into the contract; is that correct?

MR. ISHERWOOD:  It was the primary purpose of doing the exchange and optimizing that.

MR. QUINN:  Why was the contract purchased in the first place?

MR. SMITH:  Which contract are you talking about?

MR. QUINN:  We're talking about the same contracts that Mr. Isherwood is saying there is a market need here.

I'm saying if you --


MR. SMITH:  Mr. Isherwood is saying there is a market need for an exchange.

MR. ISHERWOOD:  For the exchange itself.

MR. QUINN:  But the contract is not entered into for the purposes of meeting the market need --


MR. ISHERWOOD:  No, but the optimization opportunity is created by the market need for the exchange transaction.

MR. QUINN:  So when you enter into a contract, the 20,000 units to the EDA, what is the purpose for entering into that contract?

MR. ISHERWOOD:  I will go back to the beginning.

The gas supply plan -- you're asking the same question over and over again, so I'll give you the same answers.

MR. QUINN:  No.  I am asking:  Why did you get the contract?

MR. SMITH:  Let Mr. Isherwood answer the question, sir.

MR. ISHERWOOD:  The gas supply plan is designed to meet the market needs in each of the different delivery areas.

As we have talked about, Mr. Quigley runs his modelling and he does his evaluation and comes up with the total amount of asset, upstream asset that he needs, and storage asset for that matter, as well.

And that becomes the gas supply plan, which is the foundation of where we start from.

MR. QUINN:  You use market need in the answer to that question and the previous one.

MR. SMITH:  He clearly means customer need.

MR. ISHERWOOD:  Customer need, and -- well, it's the market need.  It's a market need in the EDA, a market need in the NDA.  They all have --


MR. QUINN:  There is a difference between market need driven for optimization purposes and market need by your customers needing gas to consume.

MR. QUINN:  Let me start at the beginning.

The gas supply plan is to meet the system supply customer need in each of the delivery areas.

MR. QUINN:  And that is why entered into the contract?

MR. ISHERWOOD:  That's why you enter into the contract.

MR. QUINN:  That's one, to start with.

So you have now entered into a contract.  You have a choice of what to do with the contract; you're choosing to assign it?

MR. ISHERWOOD:  No.  The gas supply plan is intended to be fulfilled as per the plan.

MR. QUINN:  But in this case of 20,000 that is part of J6.5, you've chosen to assign it?

MR. ISHERWOOD:  That's a different activity, though.  Now we're into the optimization of the assets.

And we have a long history of going back to '93, and we have the transportation exchange account that allows us for that activity.  We have revenue built into our rates that encourage us to at least get that level of revenue through exchanges, and even to exceed that through sharing, earlier on, deferral accounts, and later on, through earnings sharing.

MR. QUINN:  And you've made the choice to optimize and assign the contract to somebody else and specify the delivery point?  That is what we're seeing in J6.5?

MR. ISHERWOOD:  And to my earlier point -- and to be clear on my market need this time -- there is always a secondary market where people want to go from point A to point B.

And in this case, a market has a need for the exchange, and it is that market need that is creating the need for the other activity.  It is the optimization activities create the exchange.

MR. QUINN:  Well, I will just put it on the record.  We would like that to be completed.  I have your answer that you are not going to complete it -- sorry, to be fair, you are going to consider completing it.

We will act accordingly.

I'm on the record as saying, though, I would accept that undertaking Monday if that precludes any risk of me using it for rebasing, because that was the presumed intent that Mr. Smith said, but that wasn't my intent.

MR. SMITH:  Okay.

MR. QUINN:  So I want to cover a couple of more things, and you might be happy to say none of these are hypothetical, or maybe some of these would be categorized that way.

In talking to Mr. Thompson this morning, he was trying to understand the table that he was referring to, and you don't need to turn it up, but it was the exchange revenues.

And, Ms. Elliott, this morning you made a clarification that the net revenue that was provided isn't completely net revenue, and you said in J6.1 and 6.2, you basically deducted 10 million from the 7.8 and 6.1 to come up with $2.2 million of incremental O&M -- I think you called it -- that would be classified as another cost to achieving that net revenue.

Do I have that correctly?

MS. ELLIOTT:  That's correct.

MR. QUINN:  Okay.  But it struck me, when I thought it through, that $2.2 million was already recognized somewhere else in your earnings sharing mechanism calculations, was it not?

MS. ELLIOTT:  The revenue is recognized in the earnings sharing calculation, as are the O&M costs.  If we removed the revenue from the earnings sharing, we would remove the costs, as well, and subject them both to the same treatment.

MR. QUINN:  Okay.  So the 2.2, to the extent that you are recalculating the ESM, if the net revenues were completely extracted, then the 2.2 would be removed from utility costs and placed with that net revenue, if it was otherwise classified?

MS. ELLIOTT:  I would suggest that if you are taking the revenues out of the earnings, the costs should come out of earnings, as well.

MR. QUINN:  And they would both be destined to the same account?

MS. ELLIOTT:  They should travel together, yes.

MR. QUINN:  Okay.  That is what I was trying to clarify.

Now, I guess this was Mr. Isherwood again.  Mr. Thompson was asking about the exchange where you have Empress-to-EDA, and the figure of 2.24 was used.

But then you say:  No, I'm going to assign it and have the gas arrive at the NDA at somewhat lower -- there is lower cost to having it arrive at the NDA.  And you said $1.84, so there was like a 60 cent increment between the two?

MR. ISHERWOOD:  They're just illustrative numbers, not necessarily toll-based --


MR. QUINN:  No, no, but just for the purposes of understanding the principle behind it.

MR. ISHERWOOD:  Right.

MR. QUINN:  You came up with -- the differential would be the difference between what the market values it at versus the toll to the EDA?

MR. SMITH:  I don't recall the evidence that way, Mr. Quinn.  Maybe you could just ask the question, rather than paraphrase the earlier evidence.

MR. QUINN:  Well, it was Mr. Thompson's cross-examination, and I don't have the benefit of your transcripts to be accurate here, but you went through a scenario.

I will get to the question, and then I will try to come back to the numbers if it is pertinent.

The sticking point was Mr. Thompson was asking -- in that scenario, where you are asking for the assignee to deliver the gas to the NDA, you said it was a two-step process, where you assign away the TCPL pipe and then you sell an exchange to a third party to earn revenue.

What I was grappling with, and I am sure Mr. Thompson was:  How is that deemed to be selling an exchange?

MR. ISHERWOOD:  The value of the exchanges, I guess, was negotiated between the two parties.

So the way it is actually transacted on paper -- so I am going to talk about the paper transaction –- it is really a two-step process.

The first is the assignment of the capacity to the third party, and this is using standard, normal TCPL assignment paperwork.  And we would then pay the third party, the marketer, the TCPL toll, that would go from Empress to EDA in this case.

And the second step is we would, then, receive revenue from the third party for doing an exchange between Empress and whichever delivery area we picked, whether it was NDA or WDA.  That number is market-based, obviously.  So I think I used the answer 30 cents or 40 cents this morning.

MR. QUINN:  Yes.  You said 40 cents.  You said $1.84 and 40 cents, but we will go back if necessary.

But I want to get clarity on that point.

Who is providing the exchange service?

MR. ISHERWOOD:  The exchange service is actually papered on Union Gas paper.  And the way it is actually written would be we would give the molecules that we would otherwise be buying at Empress, we give those to the third party marketer, and they would give us those molecules back in the delivery area we picked.

And they would pay us for that transaction.

MR. QUINN:  But who is providing the exchange?  Is Union Gas using any other contracts or assets to get the gas from Empress to the NDA?

MR. ISHERWOOD:  No.  The actual gas is moving through the service of the marketer.

MR. QUINN:  So in the common vernacular, would they not be selling you an exchange?

MR. ISHERWOOD:  It's papered as they are paying us for that exchange.

MR. QUINN:  It's papered as paying, but who is providing the exchange service?

MR. ISHERWOOD:  We are.  It is on our paper.

MR. QUINN:  But you're giving them the gas at Empress?

MR. ISHERWOOD:  Yes.

MR. QUINN:  It is reappearing in the NDA?

MR. ISHERWOOD:  Yes.

MR. QUINN:  Union is not using any of its assets or contracts to make that happen?

MR. ISHERWOOD:  We're not using any TCPL pipe ourselves.  We are papering it on our own documentation.

MR. QUINN:  Why is it done that way?

MR. ISHERWOOD:  It's been done that way traditionally.

MR. QUINN:  Would you agree with me, when you buy an exchange service, the asset -- the capability to -- whether it be synthetic or physical, is provided by the party who receives, and then redelivers the gas?

MR. ISHERWOOD:  I think in this case the exchange is defined as I defined it.  We give them gas at Empress.  They give us gas back in the NDA, as an example.

If you look behind the scenes, what is the value of that to the marketer?  They're obviously getting the FT RAM benefit.  So there is benefits behind the scenes the marketer is recognizing, and he is willing to pay us in this case 30 or 40 cents to provide the exchange.

MR. QUINN:  So simply put, if Union buys -- if Union is getting gas redelivered from Empress to Dawn outside of FT RAM and no other consideration being exchanged, who provides the exchange service, Union or the person who has entered into the contract with Union?

MR. ISHERWOOD:  I think both parties are swapping gas at two different locations; right?  So you have to look at it deal by deal and look at the underlying value to each party.

And the fact that we're doing the exchange with the marketer is not linked contractually, but it is obviously linked to the fact we're doing an assignment, as well.  So the marketer has a lot of value in the equation based on the assignment, and they're prepared to pay us for the value of the exchange we're doing with them.

MR. QUINN:  Mr. Isherwood, I said this had nothing to do with FT RAM or other considerations.

This is a simple getting the gas from Empress to Dawn by a third party.  Who provides that exchange service?

MR. ISHERWOOD:  I'm not sure what you mean by who provides the service.  The exchange is written by who gives gas to who at each of the two points.

So both parties are transacting at two different points.

MR. QUINN:  Okay.  Well, there is obviously some importance on that, so I will leave it.

DOS MN; Mr. Thompson again touched on DOS MN.  Just for the record here, can you correct -- well, is it correct that DOS MN did not come with a demand charge?

MR. ISHERWOOD:  FT commodity charge and fuel, I believe.

MR. QUINN:  So no demand charge?

MR. ISHERWOOD:  No demand charge.

MR. QUINN:  That is both for 2008, 2009?

MR. QUINN:  Correct.  But as I mentioned this morning, the 2009/2010 version of it was from Emerson on to Dawn.

MR. QUINN:  I understand the differences very well.  Thank you.  So no demand charge for DOS MN.

Well, Mr. Millar, surprisingly, it is an hour and not with what discovery I was hoping, but we will leave that for some future days.

Thank you very much.  Those are my questions.

MR. MILLAR:  Thank you for that.  Mr. Aiken had a question.  Mr. Shepherd, still no questions from you?  Mr. Aiken.
Questions by Mr. Aiken:

MR. AIKEN:  Yes.  One question from Energy Probe.

This is number 4 on the list they filed.  It is reference to B1.1a), attachment 1, and B5.3, the short-term storage account, 179-70.

And it is probably a question for Ms. Elliott, although she may want to have Mr. Birmingham answer it so we can get him on the record.

[Laughter]

MR. AIKEN:  The question is -- the first question is:  Confirm that Union accepts that the amount embedded in 2011 rates is 11.254 million, not 15.829 million.

MS. ELLIOTT:  That is correct.  The $15.829 million is the forecast for the short-term storage and balancing service that was approved in 2007.  But what was embedded in rates in 2008 was the 11.254 million.

MR. AIKEN:  And then part b) of the question is:  What does Union propose with regard to the treatment of this difference in this proceeding?

MS. ELLIOTT:  We actually filed an evidence update in this proceeding last Monday to reflect the Board's decision in the EB-2012-0206 proceeding.

MR. AIKEN:  Okay, thank you.

MR. MILLAR:  That's all, Mr. Aiken?

MR. AIKEN:  Yes.

MR. MILLAR:  Okay.  Staff's questions have actually been asked now.  So unless there is anything else, Mr. Smith?

MR. SMITH:  I am going to ask some re-examination questions.

MR. MILLAR:  Oh, of course.
Further Questions by Mr. Smith:


MR. SMITH:  Ms. Elliott, you were asked some questions about the northern tolls variance account, being 179-100.

Can you just tell me what is captured in that account?

MS. ELLIOTT:  Certainly.  The tolls and fuel deferral account captures primarily the variance in TransCanada tolls and the fuel for the northern transportation contracts that are held on TransCanada to serve the north.

There are two other items that the accounting order considers.  One is the benefit of the assignments related to unutilized capacity.  That accounting is actually being done in the deferral account or in the UDC deferral account, not the tolls and fuel deferral account.

And the other is LBA charges go through the transportation and toll deferral account.

MR. SMITH:  What do you mean by "unutilized capacity"?

MS. ELLIOTT:  In the north, the supply plan typically includes an element of capacity that is not required to meet the annual demands of the market in the north.  So there is some unutilized capacity embedded in rates.

To the extent that we are able to enter into assignments or market that capacity, the benefits of that are refunded to the ratepayers.

MR. SMITH:  And for how long have you had this deferral account?

MS. ELLIOTT:  This deferral account has existed for as long as we've been part of the Centra operations in various forms.  The accounting orders have been merged over the years, but essentially the tolls and fuel deferral account probably existed shortly after deregulation in the late '80s.

MR. SMITH:  And for just while we're on this, there was some discussion about the PGVA, and for how long have you had the PGVA in substantially the form we find it in today?

MS. ELLIOTT:  Same term.  The deferral accounts for gas supply would have come after the changes in, I think, 1987, so late '80s, early '90s.

MR. SMITH:  Mr. Isherwood, just picking up on some questions that you were asked by -- well, first by Mr. Thompson, and then by Mr. Quinn.

You talked, in answer to questions from Mr. Thompson, about exchanges offered by Union, and you said, in relation to FT RAM, that they were exchanges provided by Union, or I think you used the word typically provided by Union in relation to FT RAM.

What did you mean by that -- or they were exchanges sold by Union.  What did you mean by that?

MR. ISHERWOOD:  I am not sure I understand the question, Mr. Crawford.

MR. SMITH:  Why am I always Mr. Crawford?

MR. ISHERWOOD:  Sorry.

[Laughter]

MR. SMITH:  I guess just picking up on -- maybe the way to go at this is just to pick up on where Mr. Quinn was going at.

You said there was value on both sides of the equation.  And maybe picking up on that, what is the value that is reflected in the transaction?

MR. ISHERWOOD:  The value in optimization is always in the final exchange, which is required by the market.

So ultimately somebody in the market needs an exchange or secondary capacity, and whether it is us doing it directly with that third party or with the market, or whether it is the marketer who has maybe a better relationship with the end user doing the transaction, it is ultimately that transaction that is driving the exchange which is creating the need to do the optimization or the opportunity to do the optimization.

MR. SMITH:  And maybe just picking up on that point, when you talked about the example of leaving pipe empty and subsequently doing an exchange, how does that fit into the answer you just gave about being a market-driven opportunity?

MR. ISHERWOOD:  Well, if we do it ourselves, then we're the ones that is transacting the exchange directly with the person in market that needs the capacity.

I guess the analogy would be, if you are a manufacturing company, you can sell to the customer directly or you can go through a distributor or a middleman.

So if we're doing a deal with a marketer and getting the revenue -- the optimization revenue directly, in the background that marketer then is dealing with the customer directly.  So they're acting more as a middleman or as a distributor in the manufacturing example.

But in both cases, there is a customer that needs an exchange.

MR. SMITH:  And how does that sort of market transaction relate to the market transactions Union has been engaged in for some period of time?

MR. ISHERWOOD:  It is exactly the same transaction.  An exchange we do today is identical to an exchange we would have done back into the early 2000s -- back to '93 we were doing exchanges.

MR. SMITH:  At the outset or relatively towards the outset of his examination, Mr. Thompson took you to some prefiled evidence from the 0063 case.

Do you recall that?  That was EB-2003 -- your 2004 rate case?

MR. ISHERWOOD:  Okay.  Yes.

MR. SMITH:  And you indicated that -- something to the effect of the situation had changed.  Obviously, my notes are a little bit imprecise, but I guess I would like to ask you what you meant by "changed."

And if it is of assistance, maybe I can ask you to turn up in his compendium.

MR. ISHERWOOD:  Tab 3, page 8?

MR. SMITH:  Tab 3, page 8, yes.

I guess maybe you covered this, but what I really wanted to get at is:  Mechanically or conceptually, how has the concept of an exchange changed, if at all?

MR. ISHERWOOD:  So this is an earlier definition, basically from 1996, and it limits an exchange to being an exchange between a point on Union Gas's system to a point outside of Union Gas's system.  So we receive gas on Union's system and we deliver to a point outside of Union Gas's system.  And that's the definition from 1996.

And the definition that we testified to in the rebasing case and we talked about this morning, as well, really comes out of the RP-20030063 case, which was from '03.

And basically, it just expands the definition of an exchange to being -- it can be from a point anywhere off our system and a point anywhere on our system.  So it can be an upstream exchange, where we're talking gas, say, from Dawn to somewhere east, say Iroquois or Niagara.

It can also be an exchange from Empress to Dawn, so I would call that more the upstream versus downstream.

So it includes both, whereas in '96 it was strictly more of a downstream definition.

So I think exchanges from '96 have evolved.  The definition we have in 2003 is the same definition we have on our website today and the same one we would use today.

But an exchange is still an exchange; it is just a broader definition of it.

MR. SMITH:  And can I ask you to turn to tab 8 of Mr. Thompson's compendium?

MR. ISHERWOOD:  Okay.

MR. SMITH:  And Mr. Thompson talked to you about what was at line 8, warmer weather and favourable market pricing conditions, and he also talked to you, I guess, about earlier on that page where it discusses -- again, there is a reference to weather and market.

And you disagreed with him as to exchange activity being driven by the market, and I just wanted to ask you to expand on what you meant by that.

MR. ISHERWOOD:  I think I thought -- maybe I misunderstood his question, but I thought he was referring to FT RAM being introduced for those reasons.

And I think I agreed that the market, being -- TCPL has empty pipe, so TCPL's responding to the market, introducing FT RAM to support for market reasons.

But definitely exchanges themselves, outside of RAM, are definitely driven by market and by weather.  The value of an exchange is driven by weather, for sure.

MR. SMITH:  Right.  What about, again, the market?  How has the market changed, if at all, over the last number of years?

MR. ISHERWOOD:  I think generally -- and it even shows up in the definition between '96 and 2003 -- I believe the market has become more sophisticated.  It has become more liquid, for sure; there's more buyers, more sellers compared to what you would have seen in early days.

But it doesn't really change what an exchange is; it is still exchanging gas at two different points.

MR. SMITH:  Mr. Thompson put to you the proposition as to whether or not Union was aware -- or Union was aware and discussed FT RAM in the EB-2007-0606 case.

Do you recall that?

MR. ISHERWOOD:  I do.

MR. SMITH:  Can I ask you to turn to tab 20?

And under tab 20, on page 16, middle of the page, it says:

"The following parties agree with the settlement of this part of the issue."

Do you have that?

MR. ISHERWOOD:  Yes.

MR. SMITH:  And I am going to ask you this question:  In relation to each of these parties, do you know or does Union know whether or not any of these parties were aware of FT RAM at the time?

MR. ISHERWOOD:  I would assume that APPrO and IGUA would have been.  TransAlta, probably.  I would say there would have been some parties would have been.

MR. SMITH:  And there are a number of parties who take no issue -- Coral, Enbridge, GC, Pollution Probe, PWU and TCPL, same question:  Do you know whether any of those parties were aware of FT RAM at the time?

MR. ISHERWOOD:  Some of them -- most of them should have been, yes.

MR. SMITH:  At the time of the EB-2009-0101, same question.  Would you have the same answer?

MR. ISHERWOOD:  Yes.

MR. SMITH:  Ms. Elliott, you were asked about -- maybe Mr. Isherwood was asked about when FT RAM became a permanent feature of TCPL's tariff, and that was in 2009.

Do you recall that?

MS. ELLIOTT:  I do, yes.

MR. SMITH:  Did the toll charged by TCPL change at that time?

MR. ISHERWOOD:  It may have changed for other reasons, but not because of FT RAM.

MR. SMITH:  Thank you.

Mr. Quinn, towards the end of his examination, put a scenario to you where you have an exchange with no FT RAM, no -- I can't remember how else he described it, but no FT RAM.

Do you recall that?

MR. ISHERWOOD:  Yes.

MR. SMITH:  And is that an exchange that Union would undertake, in the scenario that he had described?

MR. ISHERWOOD:  The gas supply plan wouldn't support that.

The gas supply plan would prefer the STS option, so you actually have winter/summer balancing attached to it.

MR. SMITH:  Sorry, perhaps you can expand on that.  Why is it that the gas supply plan wouldn't --


MR. ISHERWOOD:  Well, I think the premise that Mr. Quinn had was you would use an exchange in the summer to deliver the gas to Dawn, for storage.

And the gas supply plan, when you work through that, the better option the plan comes up with is to have long-haul FT contracts into the zone, and then using STS to get back to Dawn, and then back to the delivery area in the wintertime.

It gives you more flexibility, more predictability.

MR. SMITH:  Let me ask the question, Mr. Isherwood.

You talked about the two different types of FT RAM-related exchanges that you've done.  You talked about that a number of times.

Do you recall that?

MR. ISHERWOOD:  I do.

MR. SMITH:  And I guess my question is:  In relation to the pipe empty scenario, what's driving Union's desire to engage in that transaction?

MR. ISHERWOOD:  I mentioned to Mr. Quinn the starting point -- and I think this might have got lost a bit in both the '13 hearing and this technical conference.  The driving factor is the market need for the exchange activity.

And the market exchange -- the market need for that exchange is what creates the need or the opportunity for us to leave the pipe empty, create the FT RAM credits, move the gas to a spot where it is otherwise needed, and then using those credits to provide the exchange to that third party.

MR. SMITH:  If there weren't that market need, what would you do?

MR. ISHERWOOD:  There would be no optimization opportunity.  We would be flowing the gas on the FT contracts as the gas supply plan had intended.

MR. SMITH:  Okay, those are my questions.  Thank you.

MR. MILLAR:  Thank you, Mr. Smith.

Unless there is anything else, that completes today's technical conference and we are adjourned.  Thank you.
--- Whereupon the proceedings adjourned at 2:52 p.m.
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